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Physics : Section-A (Q. No. 001 to 035)

1 The work functions of Caesium (Cs), Potassium
(K) and Sodium (Na) are 2.14eV, 2.30eV and
2.75 eV respectively. If incident electromagnetic

radiation has an incident energy of 2.20eV,
which of these photosensitive surfaces may emit

photoelectrons?
(1) Na only (2) Cs only
(3) Both Na and K (4) K only
2 The net magnetic flux through any closed surface
is :
(1) Negative (2) Zero
(3) Positive (4) Infinity
3 If the galvanometer G does not show any
deflection in the circuit shown, the value of R is
given by :
400 Q
AN G)
+ +
10 V—=— R ——2v
(1) 400Q (2) 200Q
(3) 50Q 4) 100Q

4 A 12V, 60 W lamp is connected to the secondary
of a step down transformer, whose primary is
connected to ac mains of 220 V. Assuming the
transformer to be ideal, what is the current in
the primary winding?

(1) 037A (2) 027A
3) 27A 4) 3.7A
5 A full wave rectifier circuit consists of two p-n

junction diodes, a centre-tapped transformer,
capacitor and a load resistance. Which of these
components remove the ac ripple from the
rectified output?

(1) Load resistance

(2) A centre-tapped transformer

(3) p-n junction diodes

(4) Capacitor

6 In a plane electromagnetic wave travelling in
free space, the electric field component oscillates

sinusoidally at a frequency of 2.0x10'°Hz and

amplitude 48Vml. Then the amplitude of

oscillating magnetic field is : (Speed of light in
free space = 3 x 108 m s71)

(1) 1.6x107°T (2) 1.6x107°T
(3) 1.6x1078T (4) 1.6x107T
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dqifmq (Cs), drefmm (K) qur d@ifsgq (Na) @r
BEGT HE: 2.14eV, 230eVadar 2.75eV %)
gy e Jeagema fafeto & St 2.20eV ¥,
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(1) waw Na (2) *aw Cs

3) sMiNag K (4) »aw K

el o g8 | O ATl IR R Fa
T

(1) = 2 9=

(3) =R (4) oa

gfg afigy ¥ gt G &g fagg =@ gutar ¥, a9
R &1 A &1 :

400 Q)
+ +
10 V—— R ——>vy
(1) 4000 2) 2000
3) 500 4) 1000

Th 12V, 60 W & Sadl ZE®EL & (5dds 9
o1 2, S wafe 220 V & yerEdt did ¥ 937 31
ZIABIHT Bl STEST AMHT, Wt aEfET o oy &
(1) 037A (2) 027A
(3) 27A 4) 37A

% QU fesesrdl ufkaer # &1 p-n @i W,
Aeg eprEl AW, UGl qo7 Uk @S Wiaie
¥ 1399 B a1 g2 fesemia Mg o garedt
spen (feftre) forga wean &

(1) e wfaae

(2) ©H T e ZEwET

(3) p-n @ty s

4) g

Teh THAA JEAGIDbI TCT o b1 H T BY TRl

¥ 1o faega @ 4g vm ! emEm dum 2.0x10'0Hz

I IR SaTesh % STIEd Qe HIdl & | a9 g
& % Qo Bl oW § ¢ (fata § weryr @ A
=3x 108 msT)

(1) 1.6x107°T () 1.6x107°T
(3) 1.6x1078T 4) 1.6x107'T
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A metal wire has mass (0.4+0.002) g, radius

(0.3£0.001) mm and length (5+0.02) cm. The

maximum possible percentage error in the
measurement of density will nearly be:

(1) 1.4% 2) 1.2%

3) 13% 4) 1.6%

Light travels a distance x in time #; in air and

10x in time t2 in another denser medium. What
is the critical angle for this medium?

(1) sin”! (lo—tlJ 2) sin”! [t—zj
) i

3) sin”! (%} 4 sin”! [10t_1t2j

An electric dipole is placed at an angle of 30°

with an electric field of intensity 2x10°N c .
It experiences a torque equal to 4 N m. Calculate
the magnitude of charge on the dipole, if the
dipole length is 2 cm.

(1) 2mC 2) 8 mC

(3) 6 mC (4) 4 mC

Let a wire be suspended from the ceiling (rigid
support) and stretched by a weight I attached
at its free end. The longitudinal stress at any
point of cross-sectional area 4 of the wire is :

(1) Zero (2) 2w/4
3) w4 4) w/24

In hydrogen spectrum, the shortest wavelength
in the Balmer series is ) . The shortest
wavelength in the Bracket series is :

(1) 16 2) 2

(3) 4 4 9

The temperature of a gas is —50° C. To what
temperature the gas should be heated so that the
rms speed is increased by 3 times?

(1) 223K (2) 669° C

(3) 3295° C (4) 3097 K

A football player is moving southward and
suddenly turns eastward with the same speed to
avoid an opponent. The force that acts on the
player while turning is :

(1) along south-west

(2) along eastward

(3) along northward

(4) along north-east
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e i X @& ge@d e (0.4+0.002) g, B

(0.3+0.001) mm T w=Tg (5+0.02) cm ¥
g9 &b A99 # Sifehan dHa JfE T B
(1) 1.4% (2) 1.2%

(3) 1.3% 4) 1.6%

g H Webiel /) EG K x g q91 I oA Hieqw

" 1, gug ¥ 10x U 9 Bl 2| 59 " o oy
thif~ies HIoT AT 2 7

(1) sin_l[lo—tlj ) sin‘l(tl]
) g
3) sin_l[%j 4) Sinl[lé_ltzj

% dga fagd @ 2x100N ! e & dga
& &% | 30° % HIOT G W T F | 3H U @
aren @ oMl 4 N m $1 afs fgga &t @1 2 cm
& @ fega X smaw 7

(1) 2mC (2) 8 mC

(3) 6 mC 4) 4 mC

AT TH AR B 68 B (38 SMUR) | qehrAm T
% quT 39 god R 9 W 9 Sige] didn S §1
A I BTE FAEA & A H [BHl fog I e
giqae & —

(1) = 2) 2w/4

(3) w/4 4) w24

TR Wagd H, I il &l AT aeeE )
¥ AHe I B AT TERHE F

(1) 162 (2) 21

(3) 4Ar 4 9A

el g @1 qrmE —50° C ¥ 9 & fpa qrowe
T T fpar 9 fop 3@l O e @ 9 § q

T gfe @ o ?
(1) 223 K (2) 669° C
(3) 3295° C 4) 3097 K

% eara ol faars! afer faem @ o 48 @1 @
iR foQrelt & Iam % fau o/@me @9 9@ |
% X gt & | Raars! WX oM 9@ 519 a8 goar
%, =

(1) =for—afyew &1 X

(2) @ @l &

(3) T @ &R

(4) T B &R

[ Contd...



14

15

16

17

18

19

The ratio of frequencies of fundamental
harmonic produced by an open pipe to that of
closed pipe having the same length is :

(1) 3:1 2) 1:2

3) 2:1 4 1:3

The angular acceleration of a body, moving along
the circumference of a circle, is :

(1) along the axis of rotation

(2) along the radius, away from centre

(3) along the radius towards the centre

(4) along the tangent to its position

Given below are two statements:

Statement I : Photovoltaic devices can convert

optical radiation into electricity.

Statement II : Zener diode is designed to operate

under reverse bias in breakdown region.

In the light of the above statements, choose the

most appropriate answer from the options given

below :

(1) Statement I is incorrect but Statement 11
is correct.

(2) Both Statement I and Statement II are
correct.

(3) Both Statement I and Statement II are
incorrect.

(4) Statement I is correct but Statement II is
incorrect.

> >
If CJ-)E -dS =0 over a surface, then :
S

(1) the electric field inside the surface is
necessarily uniform.

(2) the number of flux lines entering the surface
must be equal to the number of flux lines
leaving it.

(3) the magnitude of electric field on the
surface is constant.

(4) all the charges must necessarily be inside
the surface.

Resistance of a carbon resistor determined from
colour codes is (22000 +5%) Q. The colour of

third band must be :
(1) Yellow
(3) Green

(2) Red

(4) Orange

The magnetic energy stored in an inductor of
inductance 4 uH carrying a current of 2 A is :
(1) 8ul (2) 4pl

(3) 4mJ (4) 8ml
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THH TS % U Gol U5y ad1 95 U159 g1 S

@ UG B ghaal &1 STud ©
1) 3:1 Q) 1:2
3) 2:1 4 1:3

ol ga @ aify 9x TieHE Th v @ i
@O B

(1) o &1& & erfaar

(2) P & ogfesr, d= ¥ ST B AR

(3) Tr=ur & rgfesr, w% B AR

(4) zHa fafq & @i & afaa

BRI REOII DI

FH 1 : B gimar webitien fafer @ foga
g ® uftafdd & dadl ¥

Fu 11 : S STE Ao a7 o ugaieiie aud &
3t B H & foU I = )

IUUET B b wed W, T ¥ W fawet @
Feifid STgeRt T g

(1) =a= 1 98 T8 & ag %= 1 921 31

(2) <f w19 ®F I 98 ¥

(3) o=t w@ I 9 = I @& T 2

4) = 1 T8 T utg w1 8 T %)

A a9 % frg GE-dS-0 ¥

(1) U5 &% oT<X THAAH JEd & oasdsd & |

(2) US H YA B TG Tl (@IS bl HEAT 34
gl

(3) Y WX Iga & w1 uferor fraa ¥

(4) |l AL, IS F [ B SMAT® 2|

Tuf e & T e T U wreA qfae @ giaiiy
(22000 +5%) Q ¥ T &3 @1 Ao B AR

(1) dren (2) @@

(3) =u (4) -rah

4 uH e & UX § 2 A 9T yarfed g & sad
dfad gedg oot ¥ ¢

(1) 8unlJ 2) 4w

(3) 4ml 4) 8ml
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In a series LCR circuit, the inductance L is
10 mH, capacitance C is 1 pF and resistance R
is 100Q. The frequency at which resonance

occurs is :
(1) 1.59 kHz (2) 15.9 rad/s
(3) 159 kHz (4) 1.59 rad/s

The magnitude and direction of the current in
the following circuit is

A —ww— b —ww— B
E

D A C
70

(1) 1.5 A from B to A through F
(2) 0.2 A from B to A through E
(3) 0.5 A from 4 to B through F

4) g A from 4 to B through E

The minimum wavelength of X-rays produced
by an electron accelerated through a potential
difference of V volts is proportional to:

(1 r? @)

1 1

®) 7 @ T

The errors in the measurement which arise due
to unpredictable fluctuations in temperature and
voltage supply are :

(I) Random errors

(2) Instrumental errors

(3) Personal errors

(4) Least count errors

For Young’s double slit experiment, two

statements are given below:

Statement I : If screen is moved away from the

plane of slits, angular separation of the fringes

remains constant.

Statement II : If the monochromatic source is

replaced by another monochromatic source of

larger wavelength, the angular separation of

fringes decreases.

In the light of the above statements, choose the

correct answer from the options given below:

(1) Statement I is false but Statement II is
true.

(2) Both Statement I and Statement II are
true.

(3) Both Statement I and Statement II are
false.

(4) Statement I is true but Statement II is
false.
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e Foiieg LCR afay ® 9 (L) 10 mH, enfar
(C) 1uF qur gfadg (R) 100Q ¥ AR S+
BN & Rafa # emgfa ¢
(1) 1.59 kHz ()
(3) 15.9 kHz 4)

15.9 rad/s
1.59 rad/s

Fr=fefaa aftag & g & afmmr oo feon ®

A A% B

D VWV C

() 1.5A, EQ8aT BH 4 &l X
(2) 02A, EQ BH BE A &l 31X
(3) 05A, EQ BHL A ¥ B &l 31X

4) gA,E@r%ﬁaﬂA@rBaﬁeﬁT

V dieed % T% fawarR ¥ @fd fhdr seeee &
IO X-foptort @l =aq aiTeed S Hal §

(1 v? Q)

o 7 @ 7=

AT qUT diees &id § Syenell IA a1 b B
Ao H Fear ¥

(1) =ghsd Ffeat

(2) d=a Frear

(3) =TT Ffear

(4) eraadis Jfear

a1 & fafsrd war % fog o o freag §
w1 : afs vl fafat & a@ @ T san 2, @ e
H1 B e Frad @ R

o 11 : afs wepadt &id & fpelt gav sifte aoes
% THIUT T 9 Ia o o &, < St @1 sl
TRy e 1

U wul & g §, T @ W fawedt 4 @
ST g

(1) == 1 o & g &4 11 9§ &)

(2) I F\ 19 w4 11 97 ¥

(3) = wA I 9 wu= 11 o #1

4) =19 ¥ g w0 1 e/Ed 31
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A bullet is fired from a gun at the speed of
280 ms~! in the direction 30° above the
horizontal. The maximum height attained by the

bullet is (g=9.8ms_2, sin 30°=0.5) :

(1) 3000 m (2) 2800 m
(3) 2000 m (4) 1000 m

A Carnot engine has an efficiency of 50% when
its source is at a temperature 327° C. The
temperature of the sink is :

(1) 200°C 2) 27° C

(3) 15°C (4) 100° C

The amount of energy required to form a soap bubble
of radius 2 cm from a soap solution is nearly :
(surface tension of soap solution = 0.03 N m!)
(1) 50.1x1074J (2) 30.16x104J

(3) 5.06x1074J (4) 3.01x107%4)

The half life of a radioactive substance is
20 minutes. In how much time, the activity of

INh . .
substance drops to (E] of its initial value?

(1) 80 minutes
(3) 40 minutes

(2) 20 minutes
(4) 60 minutes

The potential energy of a long spring when
stretched by 2 cm is U. If the spring is stretched
by 8 cm, potential energy stored in it will be :
(1) 16U 2) 2U
(3) 4U 4) 8U

The equivalent capacitance of the system shown
in the following circuit is :

3uF
3uF
b e
3uF
(1) 9pF (2) 2pF
(3) 3uF (4) 6 pF
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fpll 5% 9 s MWl &fasr & 30° @i feem A
UL B 3T 280 m s! & G A El S B
Mell ET a9 &l TS SiIhay Hals &

(g =9.8m 5—2’ sin 30° = 0.5) :

(1) 3000 m (2) 2800 m
(3) 2000 m (4) 1000 m

BT 399 Bl gerar 50% & 919 39h @i Bl dIH
327° C ¥ s o1 Q| & —
(1) 200° C (2) 27°C
(3) 15°C (4) 100° C

TG & = | 2 cm BI5uT &1 9 B Jager a9
% foQ smagas FeIt & A @ § (WA & Hd
1 g8 @ = 0.03 Nm!) :

(1) 50.1x104J (2) 30.16x1074J

(3) 5.06x1074J (4) 3.01x104J

U feAIeieRd wary @l ot oy 20 AT ) T

a9 ¥ uered oMl Ui I & %%’um?rcﬁ

ferafea & smar & 2
(1) 80 fime (2) 20 fFme
(3) 40 fime 4) 60 firFe

fopelt @ i Y Rufawr S@if U % 59 38 2 cm
Giar wrar 1 4t fr & 8 cm diar W, o 3ed
dfua Rafaer St &b -

(1) 16U (2) 2U

(3) 4U (4) 8U

frfafaa afvae & weiifa fem o ga aiar @ ¢

3uF
3uF
I .
3uF
(1) 9 uF (2) 2 uF
(3) 3uF (4) 6puF
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A vehicle travels half the distance with speed

¥ and the remaining distance with speed 20 .
Its average speed is:

L y 2
M 5 @ 3
3 5 @ =

The ratio of radius of gyration of a solid sphere
of mass M and radius R about its own axis to
the radius of gyration of the thin hollow sphere
of same mass and radius about its axis is :

(1) 5:2 (2) 3:5
(3) 5:3 4) 2:5

Two bodies of mass m and 9m are placed at a
distance R. The gravitational potential on the
line joining the bodies where the gravitational
field equals zero, will be (G = gravitational
constant) :

W _20§m @ _sim
12G 16 G
3) -— 4 -—=

The venturi-meter works on :

(1) The principle of perpendicular axes
(2) Huygen’s principle

(3) Bernoulli’s principle

(4) The principle of parallel axes

An ac source is connected to a capacitor C. Due
to decrease in its operating frequency :

(1) capacitive reactance remains constant
(2) capacitive reactance decreases.
(3) displacement current increases.

(4) displacement current decreases.
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T e 3el g a/| O | 991 99 g I 29
T T HT 3| 3ED! S 9@ §

L 2y 2
M 5 @ 3
3 5 @

M E=AE T4 R 5991 &% 0% 39 Mo @l 39 o1&
% uft@: o froen qon @9 sedm 9 B %
AW @rEd T Dl 3ab! 3TE % uia: guie e @

ST ¥
(1) 5:2
3) 5:3

() 3:5
“4) 2:5

FHUE m AU 9m b I TUvs Th g H R U W
fera 21 Ravst ot e arell e W, TRl Tea s

I B, o fava BFm (G = Tea Reis) ¢

o -2 g
3) _12§m ) _161(;m
Flmmdt Brd e ®

(1) w=aq el & fagia

(2) @i faga W

(3) = fasia W

(4) TR e & fagid

T JATEd! aid &l T geniest (C) § et T 81
39! Faiad STgfa e 9 ¢

(1) enfeir gfoama Faa @ 31

(2) efwi gfem@ =2 31

(3) faRumus am sedr )

(4) foamT gra g ?)
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Physics :

Section-B (Q. No. 036 to 050)

36

37

38

39

40

41

The radius of inner most orbit of hydrogen atom

is 53x10""" ' m. What is the radius of third
allowed orbit of hydrogen atom?

(M) 4774 () 0534

3) 1064 4)

The resistance of platinum wire at 0°C is 2Q

and 6.8Q at 80°C. The temperature coefficient
of resistance of the wire is :

(1) 3x1071oC-! (2) 3x1074 oC-1

(3) 3x103°Ccl  (4) 3x10°2°C!

The net impedance of circuit (as shown in figure)
will be :

—55‘“’“‘—“‘%%—

mH 103 =

T
@
220 V, 50 Hz

(1) 25Q ) 10420
(3) 150 4 550

For the following logic circuit, the truth table is:

159 A

—uF

A%
Do

PR

() 4 B Y 2) 4 B Y
0 0 0 0 0 1
0 1 0 0 1 1
1 0 0 1 0 1
11 1 1 1 0

3 4 B Y 4 4 B Y
0 0 0 0 0 1
0 1 1 0 1 0
1 0 1 1 0 1
11 1 1 1 0

10 resistors, each of resistance R are connected
in series to a battery of emf £ and negligible
internal resistance. Then those are connected in
parallel to the same battery, the current is
increased » times. The value of n is :

(1) 1000 2) 10

(3) 100 @ 1

Calculate the maximum acceleration of a moving
car so that a body lying on the floor of the car
remains stationary. The coefficient of static

friction between the body and the floor is 0.15
(g=10ms™ )

(nH 50ms ()
(3) 150ms> 4)

1.2m 5_2

1.5ms_2
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BFSIS UXATY] & G9H SATh Bal Hl e

53x1071 m ¥ erEgeE gAY & dEd erEitia
Her b Browr /@ ¥ 7

(M 4774

3) 1.06A @ 1594

wfeTq % A @ gfaay 0°C gx 2Q gt 80°C 1T

6.8Q ¥ A & URAUg A TS @
(1) 3x101ec1  (2) 3x104°C!
(3) 3x103°C1  (4) 3x102°C!

tlﬁcra (S e Fast o waldid @) @l afeorsr giemen

—’W‘—H—W—

T“F

<,
220 V, 50 Hz
(1) 25Q ) 10420
(3) 15Q @) 550

& T @itwe 9y & gaar g ® ¢

A—|>O—‘ )Oiy

() 0534

%

() 4 B Y 2) 4 B Y
0 0 O 0 0 1
01 0 0 1 1
1 0 O 1 0 1
11 1 11 0

3 4 B Y 4 4 B Y
0 0 0 0 0 1
0 1 1 01 0
1 0 1 1 0 1
1 1 1 1 1 0

T T " R % 10 wfaqet &t E faega aws

IO qUT TG ATAND FAUY B T 921 & ag
Fol 9 § WSl AT ¥ O 3% 99N 941 & 9@y
T A H WIS Wl &, @ €T 2 AT 8 Sl )
I I

(1) 1000 2) 10

(3) 100 @ 1

e TIHE B BT SATUHad @01 5 BT Mk
HR % By I W TH 9% R a1 w1 agg qen
wyf & dra &1 Wige =@ qurie 0.15 2
(g=10m s2)|

(1) 50m 3_2 )
(3) 150ms™ 4

1.2ms_2

1.5ms_2
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The x-t graph of a particle performing simple
harmonic motion is shown in the figure. The
acceleration of the particle at r=2 s is :

{(s)
2 ' 8
4_____}&:/
2 2
) i )
(1 g ms () 5 ms
2 2
U -2 T 2
3) —?ms 4) Ems

A satellite is orbiting just above the surface of
the earth with period 7. If d is the density of the
earth and G is the universal constant of

. . 3m
gravitation, the quantity Gd represents :

(1) ~T @ T
3) 1? 4 713
A very long conducting wire is bent in a semi-
circular shape from 4 to B as shown in figure.

The magnetic field at point P for steady current
configuration is given by :

I —>
————— > A
R
P
I«
————— B
Rofl _2| . .
(D ZRr 1—; pointed into the page

2) % pointed into the page

3) % pointed away from the page

Boll, 2| .
4 IR 1‘; pointed away from page
In the figure shown here, what is the equivalent
focal length of the combination of lenses

(Assume that all layers are thin)?

A A
] fEjRr=Ry=20em
AR Lo
Y A
ny=16—
(I) =50 cm (2) 40 cm
(3) —40 cm (4) —100 cm
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A SEd A B §T TH B BT x-1 6 o &
goiar T R £ =2 UhS U B BT @ ©

1 —
x (m) O%\4 6

1(s)

2 ' 8
_1L_____¥_L/
2 2

i ) T 2

(1) ~Tgms 2) 5 ms

2 2

3) - %m s~ “) 711—6ms_2

U SYUE T SEdH & g Yol I b b HUT
@ e H wfa fopan sman §1 afs geat @ wu e d
e G e e Fraai @, @ i o
yafifd &l ®

(1) T @ T

3) 12 4 7

weifa fasr % R U @ I aX & 4 ¥ B
b oFE JaThiX oMb § #isT T 1 Rex gra

foam & fou fag P oX g & ©
i—
————— > A
R
P
i«
————— B

(1) 451-2 ) or et i
(@%Wﬂmﬁw
(3) S & awe A oi
@) 451-2] tor & et i

T

e ™ fo ®, oGl & 9 B g Bed QA
w1 & (@ dF qqw ") 7

m=lSs——
CIoo/ Vv \III:
] ER=Ry=20em
CIIOR LI
CAZ2N\ ARy
ny=1.6—1
(1) —50 cm (2) 40 cm
(3) —40 cm (4) —100 cm
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Two thin lenses are of same focal lengths (),
but one is convex and the other one is concave.
When they are placed in contact with each other,
the equivalent focal length of the combination
will be :

(1) Infinite (2) Zero

G) f/4 “4) f/2

A wire carrying a current / along the positive
x-axis has length L. It is kept in a magnetic field

- A A A

B=(2i+3j—-4k) T. The magnitude of the
magnetic force acting on the wire is :

() B () 31IL

G) 5 4) SIL

A bullet from a gun is fired on a rectangular
wooden block with velocity u. When bullet
travels 24 cm through the block along its length

horizontally, velocity of bullet becomes % Then

it further penetrates into the block in the same
direction before coming to rest exactly at the
other end of the block. The total length of the
block is :

(I) 30 cm
(3) 24 cm

(2) 27 cm
(4) 28 cm

An electric dipole is placed as shown in the figure.
5cm

P
0

. } ® L
_ . ~ /+

1 3cm 3 cm 1
The electric potential (in 102 V) at point P due
to the dipole is (€y=permittivity of free space

1

and e =K):

8 3
o (e D
o (v o ([

A horizontal bridge is built across a river. A
student standing on the bridge throws a small

ball vertically upwards with a velocity 4 ms~'.

The ball strikes the water surface after 4s. The
height of bridge above water surface is

(Take g= 10ms_2) :

(1) 68m (2) 56m
(3) 60m (4) 64m
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T THH B6d g (f) & I uaw «d &, fhg 1
T 9 GEU A 5| 59 F Th GEL & q9hb § @
WG E, A S B g Wihd gl g

(1) ea (2) =

(3) f/4 4 f/2

L 1S % U Rk | [ 9T x-318 Bl G fGem
% oTfey yaIEd Bl ¥ 3@ UH gEeH &F

e A A A .
B=(2i+3j—4k) T ® T@I T | I WX BRI

TEDHT TA BT T
() B1IL ) 31IL
3) S5 (4) SIL

IGH DI TH Tl Ahsl & Tk STAAER [ X u
AT F AN A &1 T Al [eob § afert fqem 7 24

em & S ¥, Tt 1 3T < A 17 T G

TH | 9 d% SHl faem H @& Bl Sk qad T
b NSl ¥ | [Eh BN FA @IS §
(I) 30 cm (2) 27 cm
(3) 24 cm (4) 28 cm
s R faga fox  yehifa 1 faga & anw fog
P ¥ forga fawa (102 V &) ¥ (e)=9a srmabiat &Y

Jegqsiiear qan 1

=K):
47:60

5cm P

Q

o Bw e Qs

©) (%JCIK “4) @qu{
T T W T RIS gA S T 2| e 9 sl

Tch BT 4ms_1%aﬂﬁ@@ﬁﬁ?3wfwi

AT BT X Habal 21 4 s 91 A UM B GAE 9
THAC 81 UM & T8 @ S A B Hd1s ©

(gZIOms_2 Fﬁ'ﬁ:’l‘q) :
(1) 68m ) 56m
3) 60m (4) 64m
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Chemistry : Section-A (Q. No. 051 to 085)

51

52

53

54

Taking stability as the factor, which one of the
following represents correct relationship?

(1) TI > Tl (2) TICI; > TICI

(3) Inly > Inl (4) AICI > AICI;4

Identify the product in the following reaction :
+ —
N2 Cl

(i) CuyBry /HBr

(ii) Mg/dry ether
(iii) H,0

> Product

OH
Je

MgBr

The given compound

CH=CH - $H ~CH,, CH,

O

3)

O

X

is an example of .
(1) vinylic halide (2) benzylic halide
(3) aryl halide

(4) allylic halide

In Lassaigne’s extract of an organic compound,
both nitrogen and sulphur are present, which
gives blood red colour with Fe3™ due to the
formation of -

(1) [Fe(seN)]**
) 136:4[F<:(CN)6]3 -xH,0
(3) NaSCN

@) [Fe(CN), NOSTF
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RIE Bl BH W U, Ffaread 9 & da—a1 a8l
Y T BT § 7
(1) TII > TII
(3) Inl; > InI

(2) TICL; > TICI
(4) AICI > AlCI;

fr=fafad sifufspar & Sae &l gsano|
+ R
N> Cl
(i) Cu,Bry /HBr

('i.i.) Mg/qwrsat T
(iii) H,O

OH OH
() © (2) @
Br

MgBr

Telkle

fear mar aifire

CH=CH - C|H ~CH, CH,
X

P Uh IETEL &
(1) anties tages (2) e toss
(3) uf@ Fems (4) ufafas FaEs

feray Aifits & @d ey & A1g2io 8 gewT Al
Iuftea ¥ St Fed™ & gry freifefaq & <99 & &ew
T B qifq @ T 3T B

(1) [Fe(seN)]**

() Fe,[Fe(CN), ] - xH,0

(3) NaSCN

“4) [Fe(CN) 5 NOST_
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Given below are two statements : one is labelled
as Assertion A and the other is labelled as
Reason R :

Assertion A : A reaction can have zero activation
energy.

Reasons R : The minimum extra amount of
energy absorbed by reactant molecules so that
their energy becomes equal to threshold value,
is called activation energy.

In the light of the above statements, choose the
correct answer from the options given below :

(1) A is false but R is true.

(2) Both A and R are true and R is the correct
explanation of A.

Both A and R are true and R is NOT the
correct explanation of A.

A is true but R is false.

3)
“)

The right option for the mass of CO, produced
by heating 20 g of 20% pure limestone is
(Atomic mass of Ca = 40)

[CaCO3 120K, cao+ COZJ

(1) 2) l12¢g
3) (4) 2.64¢

132¢
1.76 g

Complete the following reaction :

OH
0 __HCN
C oo X
[B]

[A]

conc. H2804 . [C]

A 7
[Clis —
(1) O—COOH
o O
3) QCOOH
o O
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I 31w faw T ¥ | U B et A’ SR gEt

® ‘&9 R’ fafea fear man &)

st A : fordt aifufsean & g afpao =1t @

gl 1

FRO R : R el BT SEeitya <Aaw

rfafiard Sutt sl AT RTEd S9! ol &al 7 &

UM T WU, FihAv Holl bedl |

FUX fau T YAl % U 91, J9 fqu T faeeat

| w I gy

(1) A 3Ed %, ©g R 7 31

(2) A 3R Ral @ ¥ oiX R, A &1 921 =me
.

(3) A RIA g ¥, uig R, A &I 981 e
T

4) AT ?, wg R @A 3l

20% 98 g1 g % 20 g Bl TH B A

CO, o %=qu™ o [T T faebed & : (Ca &l TTAT
T =40 %))

| caco, 120K, ca0-+.co, |

N @) 1.12g
3) (4) 2.64¢

132¢g
1.76 g

frratafeaa sitishan @ qu @it

OH
o __HCN
Lo XK
(B]

[A]
iz, H,SO, S[C]
A

[C] % —

(1) Q—COOH

o O

6 Q

o Opon
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Given below are two statements :
Statement I : A unit formed by the attachment

of a base to 1' position of sugar is known as
nucleoside
Statement II : When nucleoside is linked to

phosphorous acid at 5'-position of sugar moiety,
we get nucleotide.

In the light of the above statements, choose the
correct answer from the options given below :

(1) Statement I is false but Statement II is true.
(2) Both Statement I and Statement II are true.
(3) Both Statement I and Statement II are false.
(4) Statement I is true but Statement II is false.

A compound is formed by two elements A and
B. The element B forms cubic close packed
structure and atoms of A occupy 1/3 of
tetrahedral voids. If the formula of the compound

is AB,, then the value of x +y is in option
1 2 2) 5
3) 4 4 3

The stability of Cu?* is more than Cu™ salts in
aqueous solution due to -

(1
(2) first ionisation enthalpy.

second ionisation enthalpy.

(3) enthalpy of atomization.
(4) hydration energy.

Match List - I with List- II :

List-1 List - II
A. Coke I.  Carbon atoms are
sp3 hybridised.
B. Diamond II. Used as a dry
lubricant
C. Fullerene III. Used as a

reducing agent

D. Graphite IV. Cage like
molecules

Choose the correct answer from the options
given below :

(1) A-IlL, B-1V, C-1, D-Il
(2) A-Il, B-1V, C-1, D-III
(3) A-1V, B-I, C-II, D-IIl
(4) A-Il, B-I, C-1V, D-II
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9 & wud fau o E

FA 1 : fopell e & g a1 1 Rafa sy @
fffa s@s @ gfereiags wed 2

w11 : W9 glereianss erbar arfer a5 ' -Rafa
X BIERRY 37 ¥ JSd & d 1 IRsieEs urd
B 7

FUX U MU HUAl % MYUR WX A fqu U faweat
# H qE I g

(1) = I 3@ & wg & 1 9 2|

(2) FF 1 3R w1 1 I 9 T

3) F= I 3R F= II <+ e )

(4) F 189 & wg F 1 a6 3

Te AT a1 @l A i B g a9 3o 81 9@ B
g Ffas dgiad dxa s9ar 8 8k A & 9T
1/3 agehasE Tl & 93 21 afs aiftes & g
ABy B I fosedl § @ x +y &1 99 &

(1 2 @) 5

(3) 4 4 3

Steg faeaet & Cu™ waul &1 wnfre Cut e
g atfie ffaiad & &R0 ear 2

(1) e smee &

(2) 9w SEEE TR

3) ®™ T
(4) SwERE FSI
T -1 & gt - 1 &% @y fras st
-1 T - 10
A BH . T g
sp3 Gahitd B &1
B. & . % &% & &9
# IuArT TR Sar ¥
C. e Il 39amEs @l wifd
SUAN foRan e 31
D. ¥®rEe V. fisragen &

3 fo o Rt ¥ @ @ S gR
(1) A-IIL, B-1V, C-I, D-II
(2) A-IL B-1V, C-1, D-III
(3) A-IV, B-I, C-II, D-III
(4) A-IIL B-I, C-1V, D-II
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Given below are two statements : one is labelled

as Assertion A and the other is labelled as

Reason R :

Assertion A : Helium is used to dilute oxygen

in diving apparatus.

Reasons R : Helium has high solubility in O,.

In the light of the above statements, choose the

correct answer from the options given below :

(1) A is false but R is true.

(2) Both A and R are true and R is the correct
explanation of A.

(3) Both A and R are true and R is NOT the
correct explanation of A.

(4) A is true but R is false.

Some tranquilizers are listed below. Which one

from the following belongs to barbiturates?

(1) Veronal (2) Chlordiazepoxide

(3) Meprobamate (4) Valium

Which of the following statements are NOT

correct?

A. Hydrogen is used to reduce heavy metal
oxides to metals.

B. Heavy water is used to study reaction
mechanism.

C. Hydrogen is used to make saturated fats
from oils.

D. The H-H bond dissociation enthalpy is
lowest as compared to a single bond
between two atoms of any element.

E. Hydrogen reduces oxides of metals that are
more active than iron.

Choose the most appropriate answer from the

options given below :

(1) A, B, C only

(3) B, D only

(2) B,C, D, E only
(4) D, E only

For a certain reaction, the rate = k[A]2 [B], when

the initial concentration of A is tripled keeping
concentration of B constant, the initial rate would
(1) increase by a factor of three.

(2) decrease by a factor of nine.

(3) increase by a factor of six.

(4) increase by a factor of nine.

Which one is an example of heterogenous
catalysis?

(1) Combination between dinitrogen and
dihydrogen to form ammonia in the
presence of finely divided iron.

Oxidation of sulphur dioxide into sulphur
trioxide in the presence of oxides of nitrogen.
Hydrolysis of sugar catalysed by H* ions.
Decomposition of ozone in presence of
nitrogen monoxide.

)

3)
“)
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A <1 %o fow T ¥ U @ ‘et A iR gE

# ‘&R R’ fafea fear man &)

Afvrem A MA@ & Susn ¥ Efdad @

STTeRASH &l T B & g IwnT fpan s 31

o R : Sifed @& O, § Iea faeigan et 21

U U U FHUAt & oy 9x, A fu o fawe

# H "/ I G

(1) A3Ed % wig R 9 2|

(2) AR RIA @@ g 8T R, A &I @1 e
&

(3) A RIA g ¥, uig R, A &I 981 e
T 2

(4) A 93 T 9g R @A 2|

I FB giae gaEE 6T MY T I § B

qfdEed o dafuq §7
(1) aT=e (2) FSEAUGIES
(3) W (4) Afm

frfefad & 9 99 ®A9 & T8 ¥ 7

A.  FTSZISH 1 STANT | U1 SATEE1gS] Dl gl
¥ gtad Y & faQ fpar Simar )

B. |10 9« &1 Suan stffshan fspanfaty & sregas
% fau fepar simar )

C. TESH &1 SUAN dadl § TJ< aarsl bl 9

D. fpel t 9@ % < TSl & S/ Uohd ey
@ gaT § H-H omey fodiem ool =gaw
Bl 2|

E. ?EgeM R ¥ afud fhaneiia argstt &
SffeaTEsl Bl STafad HI! o

Ia feu MU fawedt F ¥ weW SugE SOX gy

(1) %@ A, B,C (2) %@ B, C, D, E

(3) %a@ B, D (4) ¥a@ D, E

et fafdrse arfuferan & forg,

am = k[A][B] #1 <19 B @ wiwar @ Rex @@
TUA % U |igdl O A1 & Sl 5, A1 Wi
T —

(1) 99 % % &0 96 S|

(2) ¥ % UH W FE QI

(3) ® % & W TG S

(4) % U W I¢ QI

?‘Hﬁ'lﬁélﬁ ¥ ¥ pm-—ar fawmnlt SIROr &1 Sawiw
?

(1) 7= gifa smera @i SuRafa # seifran e
% U SRS 3K SEeEsn & dh gaie
AE2IS % Sgdgs! @l SuRufd § dewl
STISNTFATZS BT Teh{ ZISATFATZS H STTIh T
b B HT emaei g saiia stemgeed
SIS HHEEs @ sunrafd & =M @l
AT

2

3)
“
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67  Which one of the following statements is

correct?

(1) Mg plays roles in neuromuscular function
and interneuronal transmission.

(2) The daily requirement of Mg and Ca in the
human body is estimated to be 0.2 -0.3 g.

(3) All enzymes that utilise ATP in phosphate
transfer require Ca as the cofactor.

(4) The bone in human body is an inert and
unchanging substance.

68  Weight (g) of two moles of the organic
compound, which is obtained by heating sodium
ethanoate with sodium hydroxide in presence of
calcium oxide is :

(1) 18 (2) 16
3) 32 4) 30

69 The element expected to form largest ion to
achieve the nearest noble gas configuration is :
(1) Na 2 O
) F 4 N

70  The correct order of energies of molecular
orbitals of N, molecule, is :

(1) Gls<6*ls<62s<c*2s<(n2px:n2py)<
(7'5*2px =n*2py)<02pz <o 2p,

) cls<c*ls<025<c*2s<(n2px:n2py)<
c2p, <<7r*2pX =n*2py)<c* 2p,

3) cls<6*ls<625<c*25<62pz<
(Tc2pX :7c2py)<<7c*2pX :n*2py)<c* 2p,

(4) ols<c Is<o2s<c 2s<o2p, <

c" 2p, < ('rc2pX =T 2py) < (Tt*2px = n*2py)

71 Homoleptic complex from the following
complexes is :
(1) Triamminetriaquachromium (III) chloride
(2) Potassium trioxalatoaluminate (III)
(3) Diamminechloridonitrito - N - platinum (1I)
(4) Pentaamminecarbonatocobalt (I11) chloride
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71

Frafafed saat & & - @& ¥ 7

(1) Mg siaxaitsaerm defa sy it
faRait gy § siftrer frvmar #)

(2) "HF R F Mg 3R Ca &1 3% strasgaar
0.2-0.3 g sgwifa & T8 ¥

(3) & USTgAl S Brehe WHiae § ATP @&
SN HIA &, b [0 G892k % w9 ¥ Ca
MATE T

(4) wHa IR ¥ TE Us SIfhg SR sTufiacHsie
a1 Bl

Ffvagy offaamss & Iuiufd o difsaw wdsue &t
Qifeaw EEES & a1d TH B UL Sl B +h
AifiTes W AT €, SHh &1 "Wl Bl "I (g)
(1) 18 () 16

(3) 32 4) 30

qE @ SN SIATA: ehead s T4 fa=m ura
HT & [0 g9 Afa® IS AT S, &
(1) Na ) O

3) F 4 N

N, 3] & TaQ oTiveds Harhl bl SHoiatl B el HH
B

(1 cls<c Is<c2s<a" 25<(n2pxzn2py)<
* * *
(Tc 2p, =7 2py)<<52pz< c 2p,

(2) ols<o Is<o2s<o 2s<(7:2px:n2py)<

3) Gls<c*ls<025<c*25<02pz<
(n2px :1':2py)<(rc*2pX :7'c*2py)<cs”= 2p,
4 cls<c*ls<025<c*25<02pz<

¢ 2p, < (anX =7 2py) < (n*ZpX = n*2py>

frfafad dgpal & ¥ sHies TP &

(1) zrEummZEuEEmmitEe (1) wREs

(2) drfie wEstEwegie (110)

(3) sEUHMEEEESE - N - wtemw (11)
(4) U=EEEEHIsGETe (1) FaREs
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Intermolecular forces are forces of attraction and
repulsion between interacting particles that will
include :

A. dipole - dipole forces.
dipole - induced dipole forces.
hydrogen bonding.

covalent bonding.

mo 0w

dispersion forces.

Choose the most appropriate answer from the
options given below :

(I) A, C, D, E are correct.
)
3)
C)

B, C, D, E are correct.
A, B, C, D are correct.
A, B, C, E are correct.

The number of ¢ bonds, m bonds and lone pair

of electrons in pyridine, respectively are :
(1 12,2,1 2) 11,2,0
3) 4

12,3, 0 11, 3, 1

Select the correct statements from the
following :

A. Atoms of all elements are composed of two
fundamental particles.

B. The mass of the electron is
9.10939 x 10731 kg,

C. All the isotopes of a given element show
same chemical properties.

D. Protons and electrons are collectively
known as nucleons.

E. Dalton’s atomic theory, regarded the atom
as an ultimate particle of matter.

Choose the correct answer from the options
given below :

(1) B, C and E only
(2) A, B and C only
(3) C, D and E only
(4) A and E only
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Saenitas 9@ o Rt & It & & S
YT 31X Uiy & o S Ea & o afefad
R

A. feyga-fega a@

B. fg-ga - i@ fe-ga s«

C. TESNA oEyd
D. deEdel nEys
E. waive 9

e fau g foei # | we@ SugE f9eed gy
(1) A, C,D,E @ &
(2) B, C, D, E @& %I
(3) A,B,C,D @ ¥
(4) A, B, C, E @& %)

UfEm ¥, o omdwl, 1 omEel ofR Ioal *
TSB! Al B HEad BT,

(1 12,2, 1 2) 11,2, 0

3) 12,3,0 4 11,3,1

frefafaa & 9 @@ duET &1 TEq BT
vl q&l % I &1 A HUN G & B B |

B. 3sd@g & g9 9.10939 x 103! kg grar
gl

C. Tt aa & avit gente a9 Tamfe ored
gafsta @ )

D. WiHl 8T soagHl &l g 89 § st =
Hed B

E. sieed & w] faaid ¥ o] & 5 & qd
B H ®I H HET

I3 few o famedt § @ w wAX ghg ¢

(1) &awa B, C 3R E

(2) %aw A, B &R C

(3) ®a@ C, D &R E

(4) ®%ad AR E
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75  Identify product (A) in the following reaction :

Ay

Zn—-Hg
conc. HCI

Cl;
OH
OH
OH
CH,OH

Given below are two statements : one is labelled
as Assertion A and the other is labelled as
Reason R :

Assertion A : In equation A G =

A + 2H20

76

cell? value

—-nFE
of A.G depends on n.

Reasons R : E_ is an intensive property and
A.G is an extensive property.

In the light of the above statements, choose the
correct answer from the options given below :
(1) A is false but R is true.

(2) Both A and R are true and R is the correct
explanation of A.

Both A and R are true and R is NOT the
correct explanation of A.

(4) A is true but R is false.

3)
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76

frfataa sifufshar & sang (A) & weafal

Ay My

Zn—Hg
qig, HCI

CH,
OH
OH
OH
CH,OH

Ara a1 B fou T €| U Bl ‘afrme A7 SR gEt

% ‘&R R’ fafea fear man &)

afvered A : @@ A G=-nFE, & A G @&

A n 91X 1R & B

R R : By WO1-%@cs e & 3t A G T

A JOTER B

T U MU HUAl % SMER 94X, A U MU faeneat

# H /I g

(1) A3Ed § wig R 9 ®|

(2) A 3R R3H @ ¥ ol R, A &l 921 Sme
%l

(3) A X RIA g ¥, uig R, A &I 981 e
T

(4) A9 T 9{g R @A |

(A)+2H,0
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77  Which amongst the following options is correct

graphical representation of Boyle’s Law?

N Vi v
P
T .
P
Q)
T—>
T T,>T,>T,
P
@)
T
T
v ; /
/ T3 T2
! :
P
3
3) T,>T,>T,
1
K —>
N
T T3> T> 1T,
P
4 T
1,
T
) /
K>
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fr=fafaa § @ sF-—a1 S19d & 9 & T8 A

g %7

o —

ey

o —>

2

u —

3)

- —>

“

Vl
V2
V3
/
T —>
T,>T,> T,
i
2
T
v— 7
T, I
Tl
T,>T,>T,
]
K —>
T3
TZ
T
1
v
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The relation between n,, (n,, = the number of
permissible values of magnetic quantum number
(m)) for a given value of azimuthal quantum
number (/), is

nm—l

(1) n_ =l+2 Q) =

3) 4) n, =20%+1

The conductivity of centimolar solution of KCI
at 25°C is 0.0210 ohm~! cm™! and the resistance
of the cell containing the solution at 25°C is
60 ohm. The value of cell constant is -

(1) 3.34 cm™! (2) 1.34 cm™!

3) 3.28 cm™! (4) 1.26 cm™!

Consider the following reaction and identify the
product (P).
CH; —CH - CH - CH,4
| |
CH; OH

3 — Methylbutan—2 — ol

l=2nm+1

—HBr 5 product P

CH
\
(1) CH;-C-CH,Br
\
CH,

3

Br
\
2) CH; - (|Z —-CH, - CH,
CH,

(3) CH, CH=CH-CH,

%) CH; - |CH - ‘CH —CH,
CH3 Br

Which amongst the following molecules on
polymerization produces neoprene?

P
(1) H,C=C-CH=CH,

(2) H,C=CH-CH=CH,

Cl
|

(3) H,C=C-CH=CH,

(4) H,C=CH-C=CH
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il @rarien @@ (7) % ot fou o 9 & foo
n, = (Yo wGieH q&l (m) & FIAT HqH Dbl
&) & S99 99 &

n_—1
(1) n_=0+2 (2) [=-D0

2
(B) I=2n_+1 (4 n, =21*+1
25°C q¥ KCl & ¥dHex faeaq &0 areswdr

0.0210 ohm™! em™! % & 25°C X famaw am
I & giae 60 ohm | T« e &1 94 ¢
(1) 3.34 cm™! (2) 1.34 cm™!
(3) 3.28 cm™! (4) 1.26 cm™!

frfafaa erfufrar T fem #ifvig ik saE (P)
% TR

CH, — CH - CH - CH,

éH3 (|)H — P s (P)

3 — AfAege— 2 — offd

T
(1) CH;-C-CH,Br

i,

Br
) CH3—é—CH2—CH3

c,
(3) CH,;CH=CH-CH,
(4) CH,-CH-CH-CH,

| |
CH3 Br

frafafed & ¥ aF-—a 9gadd »T 9 MeE
IS HOM?

CH,

|

(1) H,C=C-CH=CH,

(2) H,C=CH-CH=CH,

Cl

|
H,C=C-CH=CH,

H,C=CH-C=CH

3
)
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Amongst the following, the total number of
species NOT having eight electrons around
central atom in its outer most shell, is

NH,, AICl,, BeCl,, CCl,, PCI; :

1 2 3
3) 2 4 4

Amongst the given options which of the
following molecules / ion acts as a Lewis acid?

(1) OH- (2) NH,
(3) H,0 (4) BF,

Given below are two statements : one is labelled
as Assertion A and the other is labelled as
Reason R :

Assertion A : Metallic sodium dissolves in liquid
ammonia giving a deep blue solution, which is
paramagnetic.

Reasons R : The deep blue solution is due to
the formation of amide.

In the light of the above statements, choose the
correct answer from the options given below :

(1) A is false but R is true.

(2) Both A and R are true and R is the correct
explanation of A.

(3) Both A and R are true but R is NOT the
correct explanation of A.

(4) A is true but R is false.

Which of the following reactions will NOT give
primary amine as the product?

(i) LiAlH 4

(1) CH,;CONH, (i) 130 © Product

(2) CH, CONH, —2/ X%, prodyct

(3) CH;CN % Product

(1) LiAlH4
(4) CH3NC W} Product

20

82

83

84

85

Frfafed & @ 99 il & ga den i d=r
UTATY] % SRl HIST H I8k A ST 373 A
T, T

NH,, AICl;, BeCl,, CCl,, PCl;

M 1 @) 3
3) 2 4) 4

faw T faeedl & & BT ] / 3T |39 3T Bl
T(E HATER BT § 7
(1) OH~
(3) H,0

(2) NHj;
(4) BF,

e <1 %o fow T ¥ | U dr ‘et A st gE
® ‘@ro R’ fafea fear man &)

AFa A : gifas Qifsad g9 oI § gadhl
ML et 1 &1 fqaae Iar &, S srggas e 31

FO R : e ar fa@as THES & S99 & B
Ear B

U U U HUAt & oy Uy, A fu o fawea

# H I G

(1) A 3Ed % wig R 9 ®|

(2) A 3R R3H 9 § 3iX R, A &l 921 Sme
5l

(3) A RIA g ¥, uig R, A &I €81 =ren
TE 2

(4) A9 T 9{g R @A 2|

Frfafaa erfufspametil & @ ®9-91 S & &9 A
wrthes UHE T80 < P

(1) CH,CONH, E:f)L;[‘;gHg ESIG
(2) CH, CONH, —2/ XM, 5erz
(3) CH,CN E:?)L;[’;E)Hg S
(4) CH,NC E:)LI;/;% T
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Chemistry : Section-B (Q. No. 086 to 100)

86

87

88

89

Which of the following statements are

INCORRECT?

A. All the transition metals except scandium
form MO oxides which are ionic.

B. The highest oxidation number
corresponding to the group number in
transition metal oxides is attained in Sc,O4
to Mn,O,.

C. Basic character increases from V,0; to
V,0, to V,0s.

D. V,0, dissolves in acids to give VO?{ salts.

E. CrO is basic but Cr,O5 is amphoteric.
Choose the correct answer from the options
given below :

(1) Band Conly (2) A and E only

(3) Band Donly (4) C and D only

Consider the following reaction :

@ ©_>A+B

Identify products A and B.

(1) A= CH, and B=

(2) A=

QI
CH, and B =®OH

CH,OH and B = @— I
CH,I and B @— OH

Which amongst the following options is the
correct relation between change in enthalpy and
change in internal energy?

(1) AH+ AU =AnR
(2) AH=AU-An,RT

(3) A=

) A=

PR

(3) AH=AU+An RT
(4) AH- AU =— AnRT

What fraction of one edge centred octahedral
void lies in one unit cell of fcc?

= @ -

3)

2
O

1
3
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86 frafafed # @ B4 HuT Tl & 57

A, Wfsem & afafea @@ dwau aige MO
STTeRATES ST & S ST 2ld 2|

B. e TEA1 % €A STaaH AT TEAT ThHIT
o7 anasst o Sc,O5 & Mn, O, & T &rat
gl

C. V,058 V,0, ¥ V,05 &l 3R 91 T &d
AT TEdT S

D. V,0, sl ¥ gedt VO, @@ @ ¥

E. CrO &t & s&f% Cr,05 IHage 2|

T fou g fomedt 9 ¥ @& SO gy

(1) ®aad B3R C  (2) %aw A & E

(3) @ B X D (4) ¥aw@ C ok D

87 fTmfafaa sifafear X fomm sl

@—CHZ—OQ%A+B

IAEl A 3R B @ gsaitu)

(1) A—@CHﬁﬁTB:@ﬂ

) A=®CH3G?RB—®OH
3) A—QCHzOHBﬁTB@I
4) A=©—CH213?RB~©—OH

88 frefeiftad famedl & & @—ar Tdwd afadw &
At el gitady & o9/ a8 @9y § 7
(1) AH+AU=AnR

(2) AH=AU-An RT
(3) AH=AU +An,RT
(4) AH- AU =— AnRT

89  fcc @l Uk Udhdh hISHI H Uh BIT Hhiad THAD
fifer @1 femaem aieT Sufya &ram & 7

M = @

3 )

N e S e

1
3
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Given below are two statements :

Statement I : The nutrient deficient water bodies

lead to eutrophication.

Statement I1 : Eutrophication leads to decrease

in the level of oxygen in the water bodies.

In the light of the above statements, choose the

correct answer from the options given below :

(1) Statement I is incorrect but Statement 11
is true.

(2) Both Statement I and Statement I1 are true.

(3) Both Statement I and Statement II are
false.

(4) Statement I is correct but Statement II is

false.

Which amongst the following will be most
readily dehydrated under acidic conditions ?

NO,
() )\/\(
OH

OH
Q) CH,
H

OH OH

®) C/j{\)\
NO, .
@) )\{/\OH
OH

Match List - I with List - II :
List - I (Oxoacids List - II (Bonds)
of Sulphur)
A. Peroxodisul- L
phuric acid
B. Sulphuric acid

Two S-OH, Four S=0,
One S-O-S

II. Two S-OH, One S=0

C. Pyrosulphuric  III. Two S-OH, Four S=0,

acid One S-O-O-S

D. Sulphurous acid IV. Two S-OH, Two S=0

Choose the correct answer from the options

given below :

(1) A-lI, B-1V, C-1I, D-I

(2) A-L B-II, C-II, D-IV

(3) A-I, B-1V, C-1, D-1I

(4) A-L B-II, C-1V, D-II
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BIERARC DS R

w1 : Gve e 9@ e @ gare e $
Fo 11 : AW § Al § SHeriis & @Y
e 7

FUX U T HUA % oy WX A fiu U faweat
ff@l'ﬂ?lﬁ'(gﬁ"‘{:

(1) = I o8 & (g &= 1 83 2|

(2) F4 1 8 ®A 1 I 9 T

3) F= I X F= II I+ 3/ )

(4) w193 ¢ 9g & 1 o8 3

frafafad & ¥ - et gRiRafadl & qe9
it etmET @ fsifera gem ?

0 M/

OH
NO, OH

©) M\cm

H
OH OH

) e

H
(4) )\k\OH

OH

g -1 & - 1 F @ feaw S

T -1 T - 10
(A F (sTraer)
HTFAETA)
A. qRaEEE- . & S-OH, X S=0,
TR 3T % S-0-S
B. aw@gf® o Il & S-OH, & S=0
C. wEtEmerytd Il & S-OH, ar S=0,
| % S-0-0-S
D. geRg o7@  IV. & S-OH, & S=0

3 R o Rt ¥ @ @ S gR
(1) A-III, B-1V, C-II, D-1
(2) A-lL, B-II, C-II, D-IV
(3) A-II, B-1V, C-I, D-II
4) A-lL, B-III, C-1V, D-II
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Identify the major product obtained in the
following reaction :

0
+2| A
H
(0]

3 ‘OH# major product
COO™
COO™

©$OH

Identify the final product [D] obtained in the
following sequence of reactions.

CH,CHO - ;EA(“;;‘ >[A] 2% [B]

-

Na/dry ether

NH3)2J+ +

Hes (]

>[D]

() HC=C®Na*

1ss

4 C4Hy,

3)

The reaction that does NOT take place in a
blast furnace between 900 K to 1500 K
temperature range during extraction of iron is :

(1) CaO +SiO, - CaSiO,

(2) Fe,0; +CO - 2FeO + CO,
(3) FeO+CO - Fe +CO,

(4) C+CO,—2CO
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Frrfefaa siftufear & wi< gea SdE & wEn
0

' +2[Ag(1\JH3)2]+ +

3-oH-A, TE I

Toeiis e

COO™

YooRise

COO™

artafopanatt & FrfaRad wa & wra sifqm Sang [D]
%! YEATT |

CH,CHO I;IﬁAgf >[A] 2% [B]
Br
HBr . ©/ .
- ,[C] Na/wéu—( ,[D]

(1) HC=C®Na*

o @/\

(4) CHy,

M & Frepdor & S aren w7l § 900 K &
1500 K oxr® o srer S SArHishan el &1 W&l B, 98
2

M
)
(€))
“

CaO +Si0, — CaSiO,
Fe,0; + CO — 2FeO + CO,
FeO + CO —» Fe + CO,
C+CO, »2CO
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Pumice stone is an example of -
(1) foam (2) sol

() gel 4

Which complex compound is most stable?
(1) _Co(NH3)6J A(S0,),

:CO(NH3)4 (Hzo)Br}(NO3)2

solid sol

()

3) :Co(NH3)3 (NO3)3]

(4) [CoCly(en), | NO,

Consider the following compounds/species :

iii.

V.

The number of compounds/species which obey
Huckel’s rule is .

(1 5 2 4

(3) 6 4 2

The equilibrium concentrations of the species
in the reaction A+ B=C+D are 2, 3, 10 and
6 mol L1, respectively at 300 K. AG® for the
reaction is (R =2 cal / mol K)

(1) —13.73 cal (2) 1372.60 cal

(3) —13726 cal  (4) —1381.80 cal

On balancing the given redox reaction,

a Crzog_ +b SO%‘ (aq)+cH" (aq) >

Op-+C

vii.

2aCrt (aq)+b SOﬁ_ (aq) + % H,0(¢)

the coefficients a, b and ¢ are found to be,

respectively -
(1 81,3 (2) 1,3,8
(3) 3,81 4 1,83
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G UL IR &
(1) @M @ (2) «ia @1
(3) o @ (4) o= q &

DT GHA AT 9 Afh Wy &7
(1 _CO(NH3)6J A50,),

@ |Co(NH,), (H,0)Br |(No,),

3) :Co(NH3 )3 (NO3)3}

(4) [CoCly(en), | NO,

FrafaRaa firel | @iefa o foam sifsa:
o
©

ii. ||| iv

L L

9 T [WOH BT UTAT Hid 9T ATl [ weiet
B GE& T
(5

(3) 6

300 K T arfufpar A+B=C+D ¥ afisi &t
TR Figdd %9l 2, 3, 10 3K 6 mol L1 ¥
arfafepar & fw AG® %: (R =2 cal / mol K)
(1) —13.73 cal (2) 1372.60 cal

(3) —13726 cal  (4) —1381.80 cal

T STTAIIITE STHTRAT ® GJfAd BT IR TUTih
a, b 3T ¢ HHM: W BT &

a CrZO? +b SO? (aq) +cH' (aq) -

(2) 4
@ 2

2aCrt (aq)+bSOi (aq)+%H20(ﬂ)
(1) 8, 1,3 @) 1,3, 8
(3) 3,81 4) 1,83
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Botany : Section-A (Q. No. 101 to 135)

101

102

103

104

105

G6_

Given below are two statements : One is labelled
as Assertion A and the other is labelled as
Reason R :

Assertion A : The first stage of gametophyte in
the life cycle of moss is protonema stage.
Reason R : Protonema develops directly from
spores produced in capsule.

In the light of the above statements, choose the
most appropriate answer from the options given
below :

)
)

A is not correct but R is correct.
Both A and R are correct and R is the
correct explanation of A.

Both A and R are correct but R is NOT the
correct explanation of A.

3)

A is correct but R is not correct.

“)

Cellulose does not form blue colour with Iodine
because

)
)
3)
“)

It breakes down when iodine reacts with it.
It is a disaccharide.
It is a helical molecule.

It does not contain complex helices and
hence cannot hold iodine molecules.

Which micronutrient is required for splitting of
water molecule during photosynthesis?

(1) copper
(3) molybdenum

(2) manganese

(4) magnesium

Expressed Sequence Tags (ESTs) refers to
(1
()
3)
4)

Certain important expressed genes.
All genes that are expressed as RNA.
All genes that are expressed as proteins.

All genes
unexpressed.

whether expressed or

The thickness of ozone in a column of air in the
atmosphere is measured in terms of :

(1) Kilobase (2) Dobson units
(3) Decibels (4) Decameter
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T 3 U 57 T ¥ - us FeuaerE w9 A T SR
WA R RE :

frTaeT 99 A ;A # gHBIGWE Siad 9% B
TOH ST UM § |

FRT R : S g F I@ B § 3K WA,
dremopett & g & fawfaa sa ¥

Swed wuAl & fawa &, 9 @ W faeed ¥ 9
araH STY ga ¢

(1) A @@ % g R a7 3|

(2) A X RS 90 € &iX R, A &l 98! e
%l

(3) A X RIA g € utg R, A % 92 =qmen
T 2

(4) Awd?utg R w2

Aqeiw, oA % T Pt A o1 T A
Fiifs

(1) omaEM ¥ erfufeen & WX g fydfsa &
EicIES

(2) T T SEABES T

(3) 9% wh Hedligd A ¥

(4) 3a¥ wifed ool TE el o A arvpei
B YBSHY ol @ Hahdll|

qE DA & UTH § SN YHI GIAU B G
A S & faaved & fod smagam ¥ 7

(1) dfar (2) ¥
(3) wifa=~™ (4) TR

T STIHA oI T § 7

(1) o5 Feayql sifHeae S|

(2) o |Hl 9F, S oRUAT &% &9 A Sifiegad B
gl

gt o, < WEH % ®U H et B T

I Al S S ot erfiree B ar arfireme
& B

3
“

qgEvS X 91 % TH W A S B HeE B
fope & AT S €7

(1) freed
(3) =dEw

(2) sfgEs ghe
4 THMIET
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Given below are two statements : One is labelled

as Assertion A and the other is labelled as

Reason R :

Assertion A : ATP is used at two steps in

glycolysis.

Reason R : First ATP is used in converting

glucose into glucose-6-phosphate and second

ATP is used in conversion of fructose-6-

phosphate into fructose-1-6-diphosphate.

In the light of the above statements, choose the

correct answer from the options given below :

(1) A is false but R is true.

(2) Both A and R are true and R is the correct
explanation of A.

(3) Both A and R are true but R is NOT the
correct explanation of A.

(4) A is true but R is false.

Upon exposure to UV radiation, DNA stained
with ethidium bromide will show

(1) Bright orange colour

(2) Bright red colour

(3) Bright blue colour

(4) Bright yellow colour

Among ‘The Evil Quartet’, which one is
considered the most important cause driving
extinction of species?

(1) Co-extinctions

(2) Habitat loss and fragmentation

(3) Over exploitation for economic gain

(4) Alien species invasions

Which of the following stages of meiosis
involves division of centromere?

(1) Telophase (2) Metaphase |

(3) Metaphase II  (4) Anaphase Il

Which hormone promotes internode/petiole
elongation in deep water rice?

(1) 2,4-D (2) GAj

(3) Kinetin (4) Ethylene

Frequency of recombination between gene pairs
on same chromosome as a measure of the
distance between genes to map their position on
chromosome, was used for the first time by
(1) Henking

(2) Thomas Hunt Morgan

(3) Sutton and Boveri

(4) Alfred Sturtevant
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T 3 U 57 T ¥ - us FeuaerE U A T ER
AU FT R 7 :

feaaeE Fa9 A TAEHIaeE ¥ Tddl &1 SuT
Y T ® e

FRO R : 980 T B ST "D Bl TqHE-6-
HERZ H e % Y B ¢ ofiR gay Tl @
IYANT B [G-6-HT8he Hl Haeid-1-6-SZHERS |
gfted % foe ear 1

I HUAl & dod #, T e T faedt § @ |
I gy

(1) A @™ § ug R 9 2|

(2) AT RTA 9@ T 8T R, A %1 98I =
.

A 3R RTAl 9 € a3 R, A &1 €1 e
T 2

A 99 ¢ 9 R a@d 2|

3)
)

ufufeam srgs & Na S1LuA.T. &1 g o fafeo
H Mg BT X bl fe@rEr @ ?

(1) =Ha@ Aram

(2) TR A T

(3) TH@IEm A T

(4) =TwEn den

T Faree (st ages) ¥ 9 fpe s faeos &
T el B AT ST 87

(1) ge—fagwan

(2) omEEE afg R fawss

(3) onf¥e ww & fou srfacies

(4) facsh sufaay @1 smepaor

Frefafaa & & el fawe & dFer yerer
T fag &1 fawee e §7

(1) sramaen (2) wemmawEn 1

(3) W 11 (4) ggameRen 11

TEL A ATl A1 |, HIA-| AN qd/dd & T
@I qoI § 7

(1) 2, 43 (2) GA;
(3) Wt (4) iyt
e & UGS UK S I o dre YRS i g

B SHl % S/ B U % T H AT B, [ORH X
Tt Rafa &1 w199 &1 ST 999 Ugd fhew fean
qr?

(1) b

(2) gwE & AOH

(3) W o dEd

(4) @Hs TEAr
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How many ATP and NADPH, are required for
the synthesis of one molecule of Glucose during
Calvin cycle?

(1) 18 ATP and 16 NADPH,

(2) 12 ATP and 12 NADPH,

(3) 18 ATP and 12 NADPH,

(4) 12 ATP and 16 NADPH,

What is the role of RNA polymerase III in the

process of transcription in Eukaryotes?

(1) Transcription of only snRNAs

(2) Transcription of rRNAs (28S, 18S and
5.8S)

(3) Transcription of tRNA, 5 srRNA and

“)

snRNA

Transcription of precursor of mRNA
Family Fabaceae differs from Solanaceae and
Liliaceae. With respect to the stamens, pick out
the characteristics specific to family Fabaceae
but not found in Solanaceae or Liliaceae.
(1) Epiphyllous and Dithecous anthers
(2) Diadelphous and Dithecous anthers
(3) Polyadelphous and epipetalous stamens
(4) Monoadelphous and Monothecous anthers

The process of appearance of recombination
nodules occurs at which sub stage of prophase
I in meiosis?

(1) Diakinesis
(3) Pachytene

(2) Zygotene
(4) Diplotene

In the equation

|GPP — R = NPP|
GPP is Gross Primary Productivity
NPP is Net Primary Productivity
R here is .
(1) Reproductive allocation
(2) Photosynthetically active radiation
(3) Respiratory quotient
(4) Respiratory loss

The reaction centre in PS II has an absorption
maxima at

(1) 780 nm
(3) 700 nm

(2) 680 nm
(4) 660 nm

Unequivocal proof that DNA is the genetic
material was first proposed by

(1) Wilkins and Franklin

(2) Frederick Griffith

(3) Alfred Hershey and Martha Chase

(4) Avery, Macleoid and McCarthy
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Hiead Th & QA D & T A & HIOUT %
faq feea ATP &R NADPH, &0 sfasaddr il
27
)
)
3)
“

ghRER W ATerET B Uhdl § AR,
wrferrt 111 &7 r fieer grar & ?

(1) %a@ snRNAs &1 Sger@d

(2) rRNA (28S, 18S X 5.8S) &1 Sfa@"
(3) tRNA, 5 srRNA X snRNA &1 srfered

(4) mRNA & qofmft &1 srees

HIE A, Ao ofi fafaadr & B 31 g %
el & %AW o @@ B gTC S diaeEr ar
fafeEr & 78 U W)

(1) giEed @ aiX TEdrssl TrmeniaT

(2) faEsEn ofx fawrsdt wrmBI

(3) g @l oI A Yohay

(4) UH GEI AT ThHBHSS! GBI

STl fervrem & qatarean [ & o yrareen & geater
Tfareprd femml & @ ¥ 7

(1) areTisH (2) gHue

(3) wEI 4 faoee

Ffaiad Tt o

|GPP — R = NPP|
SLYLd. T wafe Sdeddar B
TA.ALH. A2 wufie IdEedr B
AT (R) @ &7
(1) 9o 3reied
(2) vemIgTEyaNT |k fafwor
(3) gaET TR
(4) sTE+ '

9w 11 ¥ aifafspan & &1 srastuer ofid fopar ux
BT T 7

(1) 780 nm
(3) 700 nm

18 ATP &R 16 NADPH,
12 ATP &fX 12 NADPH,
18 ATP &fX 12 NADPH,
12 ATP 3fX 16 NADPH,

(2) 680 nm
(4) 660 nm

.UA.U. SME qared ¥ e fagaesa g &
v fopes femm ar?

(1) fafemg ok Hewfer

(2) wsf fufey

(3) oi@hs BW ofik #af o=

(4) wady, affsizs o e
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Spraying of which of the following
phytohormone on juvenile conifers helps in
hastening the maturity period, that leads to early
seed production?

(1) Abscisic Acid

(2) Indole-3-butyric Acid
(3) Gibberellic Acid

(4) Zeatin

What is the function of tassels in the corn cob?
(1) To protect seeds

(2) To attract insects

(3) To trap pollen grains

(4) To disperse pollen grains

During the purification process for recombinant
DNA technology, addition of chilled ethanol
precipitates out

(1) Polysaccharides (2) RNA

(3) DNA (4) Histones

In angiosperm, the haploid, diploid and triploid
structures of a fertilized embryo sac sequentially
are :

Q)
)

Synergids, antipodals and Polar nuclei

Synergids, Primary endosperm nucleus and
zygote

(3) Antipodals, synergids, and primary
endosperm nucleus

Synergids, Zygote and Primary endosperm
nucleus

)

Large, colourful, fragrant flowers with nectar
are seen in :

(1) wind pollinated plants
(2) insect pollinated plants
(3) bird pollinated plants
(4) bat pollinated plants

In tissue culture experiments, leaf mesophyll
cells are put in a culture medium to form callus.
This phenomenon may be called as :

Q)
)
3)
“)

Senescence
Differentiation
Dedifferentiation
Development
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e 1ew BRAM &l T8 SigUTy uredl X fwsdh
q 9 udgerrar e o ol @ fe e o et
91 I B 22

(1) usEfas s

(2) 3em-3-geEie o

(3) feifem sra

4) fofe

B B H Pad (3HA) BT RN BRI BT § 7
(1) <t @0 <& BT

(2) @ B AHET B

(3) URTTHRT Bl GBS

(4) IXETEE @1 fedwE

AT SLUA.Y. Tl | @B Yokl & G
i@ 3o fopdr oraaifa wear & 7

(1) di&Es (2) oMY

(3) sTAw 4) frwE

angadistr qeu ¥ e Frofad gure & s,

feagfora ofik Brpfra T e BE-Er & 7

(1) wer Hifver, gfaema Hifed ok gar
Hsh

(2) wEE HIAHR, Tfs YUY badh 3N G

(3) yfqeamEid BIfyThRi, TeTd HITH™ i wrfie
YU hEh

(4) e HITHR, TS 3R WTfHes Yoy bsch

g, UMM, ragad adl qeie § QX g foped
T o gHd 7

(1) g 9R| uee

(2) e TR ey

(3) Ul quhta Uy

(4) TwMEE qAhd ey

b AU T N Uv qediqe Biistmiet bl Th
Y Il q1esw ® hed 99 & WU T@r T |39
AT Bl T BET A1 el & 7

(1) SItern

(2) fave=

(3) T

4) ufgdw
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Given below are two statements :

Statement I : The forces generated by

transpiration can lift a xylem-sized column of

water over 130 meters height.

Statement II : Transpiration cools leaf surfaces

sometimes 10 to 15 degrees, by evaporative

cooling.

In the light of the above statements, choose the

most appropriate answer from the options given

below :

(1) Statement I is incorrect but Statement 11
is correct.

(2) Both Statement I and Statement II are
correct.

(3) Both Statement I and Statement II are

incorrect.

(4) Statement I is correct but Statement II is

incorrect.

The historic Convention on Biological Diversity,
‘The Earth Summit’ was held in Rio de Janeiro

in the year :
(1) 2002 (2) 1985
3) 1992 (4) 1986

In gene gun method used to introduce alien DNA
into host cells, microparticles of

metal are used.
(1) Silver

(3) Zinc

Movement and accumulation of ions across a
membrane against their concentration gradient
can be explained by

(1) Active Transport

(2) Osmosis

(3) Facilitated Diffusion

(4) Passive Transport

(2) Copper
(4) Tungsten or gold

Axile placentation is observed in

(1) China rose, Petunia and Lemon
(2) Mustard, Cucumber and Primrose
(3) China rose, Beans and Lupin

(4) Tomato, Dianthus and Pea

Identify the correct statements :

A. Detrivores perform fragmentation.

B. The humus is further degraded by some
microbes during mineralization.

C. Water soluble inorganic nutrients go down
into the soil and get precipitated by a
process called leaching.

D. The detritus food chain begins with living

organisms.
E. Earthworms break down detritus into
smaller particles by a process called
catabolism.
Choose the correct answer from the options
given below :
(1) D, E, A only
(3) B, C, D only

(2) A, B, C only
(4) C, D, E only
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T e A ™

FA 1 : IS ¥ I 9 Teh WISAH STHIY
W b W B 130 J. Far IS8T Ghar )

Fo 11 : arocatora Siae & ZI ardiedet gl @l
el & wH-H 10-15 f&i S ®ar 2
e Bl % fawg ¥, 9 @ faeedt ¥ @ @8
I gy :

(1) == I 7@d & utg w9 1 @& )

(2) Fa I X F4= 11 I &&1 ¥

(3) w1 &R w11 <9 Tad 2|

4) wW 19 % ug Fa9 1 T@d 2

S fafaaar o Wfaefae oo o aftge” far
fs Rafar & form ot & gom o ?
(1) 2002 (2) 1985
(3) 1992 (4) 1986

Xy Hifdte # el SLUA.U B AT B
% forg St = fafy & vga geq & e a1g & 5=
B E 7

(1) =id (2) i

(3) fi® (4) TTEA a1 @

el % SR |igdT Yavrar & faeg maql &l
T ST TS & Bl fohar fohEeh &I =TT Wi S
Fahal & 7

(1) =fea gf@s

(2) TR

(3) gurer faavo

(4) fafra uftaes

Wiy S ey T@r S gehar ® 7
(1) 7z, fughm 8k iy

(2) =&, g iR fme

3) W,Eﬁﬂaﬁ'{iﬁl"{

(4) ZHRY, SEUYH ST WX

TE HYAl B qEAINY -

A. SRR &I B Wied &ed 3|

B. % & SEme & enE o siie srated
Tl ¥ e wfslietn w1 s §1

C. & gaasiid o W a1 & 9 9d
S & o e & o ¥ 5 femas wed
gl

D. UGS @E @ sifad sial @ oo Bl 5

E. %gs ARG &l Wied & 81 &ul § §&d adl
% 9 oroeaT wed )
T i ™ faeadt § ¥ @ SO g

(1) ¥a@ D, E,A (2) ¥a@ A, B, C
3) w@@ B,C,D (4) ®aw C, D, E
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Among eukaryotes, replication of DNA takes
place in -

(1) G, phase
(3) S phase

(2) M phase
(4) G, phase

Given below are two statements :

Statement I : Endarch and exarch are the terms

often used for describing the position of

secondary xylem in the plant body.

Statement II : Exarch condition is the most

common feature of the root system.

In the light of the above statements, choose the

correct answer from the options given below :

(1) Statement I is incorrect but Statement 11
is true.

(2) Both Statement I and Statement II are
true.

(3) Both Statement I and Statement II are

false.

(4) Statement I is correct but Statement II is

false.

The phenomenon of pleiotropism refers to

(1) morethantwo genesaffectingasinglecharacter.

(2) presence of several alleles of a single gene
controlling a single crossover.

(3) presence of two alleles, each of the two
genes controlling a single trait.

(4) asingle gene affecting multiple phenotypic

expression.

Identify the pair of heterosporous pteridophytes
among the following :

(1) Equisetum and Salvinia

(2) Lycopodium and Selaginella

(3) Selaginella and Salvinia

(4) Psilotum and Salvinia

Given below are two statements : One is labelled
as Assertion A and the other is labelled as
Reason R :

Assertion A : Late wood has fewer xylary
elements with narrow vessels.

Reason R : Cambium is less active in winters.
In the light of the above statements, choose the
correct answer from the options given below :
(1) A is false but R is true.

(2) Both A and R are true and R is the correct

explanation of A.

(3) Both A and R are true but R is NOT the
correct explanation of A.

(4) A is true but R is false.
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gHiEe o U B YapiaaT w9 &ar & ?

(1) G, ey (2) TH afERen
(3) u©a e 4 G eraen
RICRARC RS RO IR O ik S

YA | : HeamiaaTed 7Y STel STieared S &1 Sua,
Treul ® fadiiad sgaw o Rufd &1 avi= & & fog
[ERIEICIEA

w11 : STereTicaTee: ST QM Jad= 6l q&ol
gl

S wuAl & fowg #, 9 i fasedt § @ W@
ST gy

(1) = 1 7a & 9g @A 1 & &)

(2) F1 1 R F49 11 I 9 2

3) F I 3R = II I o/ |

4) =W 19 % ug FaA 11 o 31

TEUHIIE Dl T2l & Fa1 37 T 7
(1) < 9 a1fes S Sl U% Tha A9 Bl FHIad
H T

(2) THT S & Sgd ¥ gl (g fawe) B
IURATT S Ueh Thd W (AT b1 sy
BT T

(3) < udal @l SuRYfd, TAH B 3 S T Thed
AT bl AR B B

(4) TS UHA S SN 9gd o 399 UTEdl StreatermEl
BT YT Bl B

frefafad & 9 faweeme cRewEe & g+ &

JEgI™T :

(1) sFfidiew 8t areifrar
() @EHEIETT R Ryasiar
(3) fRyoiHar R areitar
(4) grE@eT AR arfEr

< wee @ T E U FewaE Fu9 A ® e

U FT R % :

freaaE F A Uy H Gl arfewretl are

g SZEH I Bl &

FoT R : qféal § Sfaam &7 Sransha g 7

Sugded wUHl & fava ®, i e W faeedt & @ @@

IaX g ¢

(1) A @™ § utg R 9 2|

(2) A X REH 9@ ¢ 8T R, A % 98! e
]

(3) AR RIA 9 ¥ g R, A &l W&l =
& )

(4) A @™ % 9y R @

[ Contd...



Botany : Section-B (Q. No. 136 to 150)

136

137

138

G6_

Identify the correct statements :

A. Lenticels are the lens-shaped openings
permitting the exchange of gases.

B. Bark formed early in the season is called
hard bark.

C. Bark is a technical term that refers to all
tissues exterior to vascular cambium.

D. Bark refers to periderm and secondary
phloem.

E. Phellogen is single-layered in thickness.

Choose the correct answer from the options given
below :

(1) B and C only

(2) B, C and E only

(3) A and D only

(4) A, B and D only

Match List I with List II :

List I List 11
A. M Phase I.  Proteins are
synthesized
B. G, Phase II.  Inactive phase
C. Quiescent III. Interval between
stage mitosis and
initiation of DNA
replication
D. G, Phase IV. Equational
division

Choose the correct answer from the options given
below :

(1) A-II, B-1V, C-1, D-lII

(2) A-IIL B-II, C-1V, D-I

(3) A-1V, B-II, C-I, D-lII

4) A-1V, B-1, C-II, D-II

Given below are two statements : One is labelled

as Assertion A and the other is labelled as

Reason R :

Assertion A In gymnosperms the

pollen grains are released from the

microsporangium and carried by air currents.

Reason R : Air currents carry the pollen grains

to the mouth of the archegonia where the male

gametes are discharged and pollen tube is not

formed.

In the light of the above statements, choose the

correct answer from the options given below :

(1) A is false but R is true.

(2) Both A and R are true and R is the correct
explanation of A.

(3) Both A and R are true but R is NOT the
correct explanation of A.

(4) A is true but R is false.
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e HYA Bl TEAIY
A. IqACY W9 b SRR & % e & S A4 @
AT Y& B £

B. #E9 ¥ yIeW ¥ S BIA Bl $HoX BIA Hel
ST B

C. B[ Uh qh-idl JE & o gagl b=y
T & Ul Hahl b GeH H UgE il ol

D. =@, uieH ofR fados wad & ¥e § wga

BT 21

BT HIZlE § Th X el 8|
:ﬁﬁﬁ&nﬁﬁwﬁﬁ%aﬁwgﬁq
(1) w%aw B sk C
(2) %@ B, C &R E

(3) %ad A 3R D

(4) Ha@ A, B e D

T I & w1 % wr gAfad i

Tl T 1

A. M yraen I OIHT & deewo

B. G, yrewn I afhg sreren

C. orid oremen Il S BT
o sik
S1.UA.T. yfagpfaad
% ATCH B & dF
FHATA

D. G, sfeRen IV. &9 famse

A @ W gl § ¥ 98 ST gy ¢
(1) A-IL, B-1V, C-1, D-III
(2) A-IIL B-II, C-1V, D-I
(3) A-1V, B-1I, C-1, D-III
(4) A-1V, B-l, C-II, D-III

T U 59 ™ ¥ e T w9 A T SR

AR RT :

AT FUF A ¢ SFGAdrs qedl J I S gad

AT | Ho B0 § ST a1y 9 &1 | S

IS

FRO R : 91g 91 9T HO0 B BIEM b J@ T

W S §, el W gEd Bie G S § S wm

At o1 fmfor 7€ g

e HeAl & o ®, I @ T famedt § 9w

S gMT

(1) A @@ ¥ utg R 97 31

(2) A SRR A o ¥ 3l R, A &I €21 re
.

(3) A X RIA 9 % g R, A &l W&l =
T ¥

(4) A9 ? 9y R s@d B
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Match List I with List II :

List 1 List 1T
A. Tron I.  Synthesis of auxin
B. Zinc II.  Component of
nitrate reductase
C. Boron III. Activator of catalase
D. Molybdenum IV. Cell elongation

and differentiation
Choose the correct answer from the options given
below :
(1) A-IL, B-1V, C-I, D-III
(2) A-lI, B-1I, C-1I, D-IV
(3) A-II, B-1II, C-1V, D-I
4) A-II, B-1, C-1V, D-ll

Which of the following combinations is required

for chemiosmosis?

(1) proton pump, electron gradient, NADP
synthase

(2) membrane, proton pump, proton gradient,
ATP synthase

(3) membrane, proton pump, proton gradient,

NADP synthase

(4) proton pump, electron gradient, ATP

synthase

Main steps in the formation of Recombinant
DNA are given below. Arrange these steps in a
correct sequence.

A. Insertion of recombinant DNA into the host
cell.

B. Cutting of DNA at specific location by
restriction enzyme.

C. Isolation of desired DNA fragment

D. Amplification of gene of interest using PCR.

Choose the correct answer from the options given
below :

(1) B,D,A,C (2) B,C, D, A

(3) C,A,B, D 4 C,B, DA

Which one of the following statements is NOT
correct?

(1) The amount of some toxic substances of
industrial waste water increases in the
organisms at successive trophic levels.
The micro-organisms involved in
biodegradation of organic matter in a
sewage polluted water body consume a lot
of oxygen causing the death of aquatic
organisms.

Algal blooms caused by excess of organic
matter in water improve water quality and
promote fisheries.

Water hyacinth grows abundantly in
eutrophic water bodies and leads to an
imbalance in the ecosystem dynamics of
the water body.

)

3)

“)
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T I & g 1 % | gafad Sy
Tl T 10
A. @® I onferaT &1 dyeruor
B. & II. "Eee fewa & aea
C. IR . et &1 afpadrs
D. wifas IV. I3 &1 a&=
ol favdiew

A @ W el § ¥ 9@ IO gy ¢
(1) A-IL B-IV, C-I, D-MI
(2) AL, B-II, C-I, DIV
(3) A-IL B-III, C-1V, D-I
(4) AL, B-1, C-IV, D-II

Frafafed & & SF-—a1 guEee TERte g
% fou smasas 72

(1) WM U™, 3w Yaurdr, .0, g

(2) forell, WM o, WM yevar, T fide
(3) Tereclr, WS U=, Wi gavrar, TH. O S Rigw
(4) W U, 3w AT, T fidwm

YT S1.UA.T. % Fei % g 9w 9 i ™
%1 3% wd v ¥ aiud Hifig)

A, U HIHT F GTATTS ST, BT SIT:&q0T

B. wfderes TIgH &R SIUAT &l T (aiarse W
T HIAT

C. difsa SUAY @vs &l guH BT

D. WE.AN. & ITEM & g died S wbl

CICEE]
I @ ™ fyedl § 9 98 39X g ¢
(1) B,D, A, C () B,C, D, A
3) C,A,B,D 4 C B, DA

frrafafad & & SH-a1 o 98 T 7 7

(1) oirnfe sufire wd # o fava el & e
Y IAOAT AW WX 9T Sl § Ferad el 8
gfed A ¥ UG Sene # Sifasw et @
YT HTT AT GEsia i SieriIor
T ¢ Rrad aeliE Sl @ g 8 S 3
A # efdiad Siae garel % Bl Sy
RS AT & S 9 & U Bl I BT &
3 AB@MTET %l Serdl adl 5|

U Sited o o i ol aifasa g |
ST H wifkas wfd ¥ srEge e g ¥

2

(€))

“
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Which of the following statements are correct
about Klinefelter’s Syndrome?

A. This disorder was first described by
Langdon Down (1866).

B. Such an individual has overall masculine
development. However, the feminine
development is also expressed.

C. The affected individual is short statured.

D. Physical, psychomotor and mental

development is retarded.
E. Such individuals are sterile.
Choose the correct answer from the options
given below :
(1) Aand Eonly (2) A and B only
(3) Cand Donly (4) B and E only

Match List I with List II :

List I List 1T
(Interaction) (Species A and B)
A. Mutualism [. +(A), O(B)
B. Commensalism II. —(A), O(B)
C. Amensalism L. +(A), —«(B)
D. Parasitism IV. +(A), +(B)

Choose the correct answer from the options
given below :

(1) A-lI, B-I, C-1V, D-1I

(2) A-1V, B-II, C-1, D-1II

(3) A-1V, B-I, C-II, D-III

(4) A-1V, B-III, C-1, D-II

Given below are two statements : One is labelled

as Assertion A and the other is labelled as

Reason R :

Assertion A : A flower is defined as modified

shoot wherein the shoot apical meristem changes

to floral meristem.

Reason R : Internode of the shoot gets

condensed to produce different floral appendages

laterally at successive nodes instead of leaves.

In the light of the above statements, choose the

correct answer from the options given below :

(1) A is false but R is true.

(2) Both A and R are true and R is the correct
explanation of A.

(3) Both A and R are true but R is NOT the
correct explanation of A.

(4) A is true but R is false.

How many different proteins does the ribosome
consist of?
(1) 20
3) 60

2) 80
4) 40
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Fiheed gT & fawg § B9 s g8 £ 7

A. 39 f9BR & 9u 999 ged s e (1866)
= fepam am

B. T# wfrd § SEmuedn "X uiad| gar ®

TEH! AIGT qgds 7 =g g )

JTfad <t BIS ST &1 oIl & |

T, TZBMIET 31X A o @b ST

]

E. U9 =i a9 & &1

T T ™ faee § ¥ @ sO) g

C.
D.

(1) Bad ASRE (2) %ad A 3R B
3) ®waw C3ikD (4) ®aw B3R E
T I &l T 1 &% arg gafaa i :
Tl T 10
(TrEdET) (1 A 3R B)
A.  GEHHITT I.  +(A), OB)
B. e II. —A), O(B)
C. JigwmiE gwEitgar 1. +(A), «(B)
D. uxsitaar IV. +(A), +B)

A @ W faedl § ¥ 9@ 39X gy ¢
(1) A-IIL, B-I, C-IV, D-II
(2) A-IV, B-II, C-1, D-11I
(3) A-1V, B-I, C-II, D-III
(4) A-1V, B-III, C-1, D-II

RICAAECBER U RID RSB CREEED ot B I W A I 1

AU FT R % :

freTaTeTE FU A UH JW P ®UCAHT o b &9 J

afeTitg fepa wmar @ foes v At &t ufads

guiry afes 9 & W

FRO R : WAT & U UG Ebl STEl gdt U

T % semg fafe= geder SuiT e B B

U Bl % Te H, e e ™ faeed § @ @

ST gMT

(1) A @™ § utg R 9 2|

(2) AR RIA 9@ € &R R, A %7 98l e
&

(3) A X RIA g € Uty R, A % 92 =qmen
T 2

(4) A @™ % 9y R 3@ )

EEEE ® fhan fre-fae Wi B ¥ 0

(1) 20 2) 80

3) 60 4) 40
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Match List I with List II :

List I List 11

Cohesion I.  More attraction in
liquid phase
Mutual attraction
among water
molecules

Water loss in
liquid phase
Attraction towards
polar surfaces
Choose the correct answer from the options
given below :

(1) A-IL, B-I, C-1V, D-III

(2) A-IIL, B-1V, C-I, D-1II

(3) A-1V, B-III, C-II, D-1

(4) A-IIL B-I, C-1V, D-II

Match List I with List II :
List I

Oxidative L.
decarboxylation
Glycolysis

A.

B. Adhesion II.

C. Surface I11.
tension
Guttation

D. IV.

List 11

Citrate

synthase
Pyruvate
dehydrogenase
Electron
transport system
EMP pathway

1.
Oxidative 1.
phosphorylation
Tricarboxylic
acid cycle
Choose the correct answer from the options given
below :

(1) A-II, B-1V, C-1II, D-I

(2) A-I, B-1V, C-1I, D-I

(3) A-Il, B-1V, C-I, D-11I

(4) A-lI, B-I, C-lI, D-IV

Melonate inhibits the growth of pathogenic
bacteria by inhibiting the activity of

(1) Dinitrogenase

(2) Succinic dehydrogenase

(3) Amylase

(4) Lipase

oS0 @ »

IV.

Given below are two statements :

Statement I : Gause’s ‘Competitive Exclusion

Principle’ states that two closely related species

competing for the same resources cannot co-

exist indefinitely and competitively inferior one

will be eliminated eventually.

Statement II : In general, carnivores are more

adversely affected by competition than

herbivores.

In the light of the above statements, choose the

correct answer from the options given below :

(1) Statement I is incorrect but Statement 11
is true.

(2) Both Statement I and Statement I1 are true.

(3) Both Statement I and Statement II are
false.

(4) Statement I is correct but Statement II is

false.
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T L&l gt I & |ry gafdd i
Tl T I

A. dEsH I =9 o@en # segd

it aTeRyuT
B. e . 5« evet & S
T SHY

C. g& T Il 59 Sfaen § S &I 8l

D. f&g 5@ IV. ¢eira qael @l 8T Sy

Ia @ ™ faeel ¥ ¥ 9 39X gh ¢

(1) A-IL, B-I, C-IV, D-III

(2) A-II, B-1V, C-1, D-III

(3) A-IV, B-III, C-II, D-I

(4) A-IIL, B-I, C-IV, D-II

T 1 & w1 & e gatad st
@ 1 @ 11

A, oTaERfe I fage fidw
EICIEIERITHE]

B. et 1L dEede e

C. o Il 3o uiEsd a=
BTERIT

D. vEeEieae V. suadn oy
3 T

I i@ W fgeel & @ @8 STx g ¢

(1) A-II, B-1V, C-II, D-I

(2) A-II, B-1V, C-II, D-1

(3) A-II, B-1V, C-I, D-III

(4) A-II, B-1, C-II, D-IV

Here el Alhad Bl Webeht, WTebTTeh STl

@ gig & Tebar &7

(1) =g

(2) GFITTH SrETESITTIT

(3) uHTES

(4) g

TS eue il ™ ¥

w1 T F Wt oesH R % AR U6
& O & fau weal HE arer Q@ ey g
WAl oFd B qh WYY el @ Fbdl 3R
weff w9 § "fean wfa sidqa: faga & s ¥
Fo 11 : LRl BRI Bl Sod JERn
Wyl g0 sWega ifde ywifad e |

U Bl % e ¥, T T T fabedt & 9 @8
IR gy :

(1) == I 7@d & 90 & 1 9 2

(2) F4 1 R F49 11 I 9 2|

3) F= I 3R F= II I o/ ¥

4) =@ 19 % g A 1 o B
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Match List I with List II.

List I List II
A. Gene ‘@’ I.  PB-galactosidase
B. Gene ‘y’ II.  Transacetylase
C. Gene ‘ II. Permease
D. Gene ‘7’ IV. Repressor protein

Choose the correct answer from the options
given below:

(1) A-II, B-I, C-1V, D-1I

(2) A-IL B-I, C-1V, D-lII

3) A-IL, B-III, C-1V, D-I

4) A-II, B-1V, C-1, D-II

Given below are two statements:

Statement I: Ligaments are dense irregular
tissue.

Statement II: Cartilage is dense regular tissue.
In the light of the above statements, choose the
correct answer from the options given below:
(1) Statement I is false but Statement I1 is true.
(2) Both Statement I and Statement I1 are true.
(3) Both Statement I and Statement II are

false.
(4) Statement I is true but Statement I1 is false.

Given below are two statements: one is labelled
as Assertion A and the other is labelled as
Reason R.

Assertion A: Amniocentesis

for sex

determination is one of the strategies of

Reproductive and Child Health Care Programme.
Reason R: Ban on amniocentesis checks
increasing menace of female foeticide.
In the light of the above statements, choose the
correct answer from the options given below:
(1) A is false but R is true.
(2) Both A and R are true and R is the correct
explanation of A.
(3) Both A and R are true and R is NOT the
correct explanation of A.
(4) A is true but R is false.
Match List I with List 11
List I List 1T
(Type of Joint) (Found between)

A. Cartilaginous 1.  Between flat
Joint skull bones
B. Ball and II.  Between adjacent
Socket Joint vertebrae in
vertebral column
C. Fibrous Joint IIl. Between carpal and
metacarpal of thumb
D. Saddle Joint IV. Between Humerus

and Pectoral girdle
Choose the correct answer from the options
given below:
(1) A-IL, B-1V, C-III, D-I
(2) A-I, B-L, C-II, D-IV
3) A-IL, B-1V, C-I, D-1II
4) A-I, B-1V, C-11I, D-lI
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T I & g % ary gafad s

Tl T 10
A, W9 U I B-AceEEss
B. oW ‘@8’ II. ZiEugeEs
C. oW ‘ag’ II. gefios
D. W9 <® IV. o+ wem
T fau T e § 9 @€ SO @ 99T B

(1) A-II, B-1, C-1V, D-II

(2) A-IL B-I, C-1V, D-III

(3) A-II, B-III, C-1V, D-I

(4) A-I, B-1V, C-I, D-lI

IO RO DI

FoA I: TG quA SFEh| oak 8

Fa 11: suRy e+ Fafa sas 7
Suged HoAl b gty H A fau o fawedt @ W@
IO B TIT B

(1) w1 39 & Al w1 & 31
(2) I+ F= 1 wd I 99 )

(3) < i w1 wd I e 2

4) ®W 197 ¢ dfed Fa= 11 3 2

T 1 HUA [ T E O AHEER A E A IR

R %1

AR A fer fraior & e Seeaes S99 ue o

WA U BIEHA B Th IR §1

FRO R: I@AYT WX ey 96d §T A& U1 &1

% HHA Bl UdhdT 2

I HUAl & YISl H, T Gy T fowed ¥ 9

S| T BT 9T B

(1) A 39 & @fhd R 97 2|

(2) Awd R3IAE 9 & wd R, A &I G&l AT 7 |

(3) Avwd RNl 9 ¥ wd R, A %1 &1 AT 78}
.

(4) A 9™ ¥ WfeT R /@ B

T L & T 0L & 9 gAtad el
Tl T 10
(wfa =1 W) (% W wrEn A P)
A. SURI-gad [ 9ud wu STRed
Gy % 9
B. @%g% @fwadr 1. ®9%®es | &
gty Fapeadl werewet
% "
C. fw @ . S % Hw oK
AeTBId & HEd
D. =@ dfy IV. ™ wd si|
AGAT & T

R fu o frdd § /98 9 @ 9aT s
(1) A-II, B-1V, C-III, D-1
(2) A-IIL, B-1, C-II, D-IV
(3) A-II, B-1V, C-1, D-IIT
(4) A-L, B-IV, C-III, D-Il
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Given below are two statements:

Statement I: Vas deferens receives a duct from
seminal vesicle and opens into urethra as the
ejaculatory duct.

Statement II: The cavity of the cervix is called
cervical canal which along with vagina forms
birth canal.

In the light of the above statements, choose the
correct answer from the options given below:
(1) Statement I incorrect but Statement II is

true.
(2) Both Statement I and Statement II are
3)

true.
Both Statement I and Statement II are
false.
(4) Statement I is correct but Statement II is
false.

Which one of the following techniques does not
serve the purpose of early diagnosis of a disease
for its early treatment?

(1) Enzyme Linked Immuno-Sorbent Assay
(ELISA) technique

(2) Recombinant DNA Technology

(3) Serum and Urine analysis

(4) Polymerase Chain Reaction (PCR)

technique

Which one of the following common sexually
transmitted diseases is completely curable when
detected early and treated properly?

(1) HIV Infection (2) Genital herpes

(3) Gonorrhoea (4) Hepatitis-B

Which of the following is not a cloning vector?

(1) Probe (2) BAC
(3) YAC (4) pBR322
Match List I with List I1.
List I List 11
A. CCK [.  Kidney
B. GIP II. Heart
C. ANF HI. Gastric gland
D. ADH IV. Pancreas

Choose the correct answer from the options
given below:

(1) A-1V, B-II, C-III, D-I

(2) A-1v, B-11I, C-II, D-I

(3) A-I, B-1I, C-1V, D-I

4) A-I, B-1V, C-1, D-II

Which of the following are NOT considered as
the part of endomembrane system?

A. Mitochondria

B. Endoplasmic Reticulum

C. Chloroplasts

D. Golgi complex

E. Peroxisomes

Choose the most appropriate answer from the
options given below:

(1) A, D and E only (2) B and D only

(3) A,CandE only (4) A and D only
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a9 & Hud fqw Mo

F 1: JhaTed IS Y Ue dTfel T Bl ©
3 Rt & wEerg Al & w9 gaAdm 2|
F 11: afded &1 Te1 &I afdea T bed & ol
A & Y T @ S S

Suged Hol b webtel ®, 7 oy Ty faeedt 7 @ W@
IO B TIT B

(1) =@ 1 o9 ¢ dfepT &= 11 9 8

(2) I F= 1 wd I 99 )

(3) < w1 wd I e 2

4) ®F 197 ¢ afed w4 11 3 2

1 & 9 BTG dris T T % TN IUAR &
fow writhe frem & St =@ & °

(1) USTEH Tea= Hiaen 9y STHI (TaTgs)
(2) gTai AT e

(3) 9w wed g fagawor

(4) demE 9 RowE (FEem) aedw

e & Q@ A g A EEia A Aty st
Tel W WY S bl Sieh § U B Y Al guiat:
3 B T € 7

(1) Taemsdl Ghawr  (2) S aiad

(3) g (4) wFpasta-B

o & ¥ B9 FAT daed el E 7

(1) v (2) BAC

(3) YAC (4) pBR322

T I & g I % |y gafad s
el | T 10

A. GHi% I g%

B. Semgdr II. =™

C. uuu% M. wrex Uiy

D. Tt IV. =™

T fau T e § 9 @€ SO @ 99T B
(1) A-1V, B-II, C-III, D-1
(2) A-1V, B-II, C-II, D-1
(3) A-III, B-II, C-IV, D-I
4) A-II, B-1V, C-1, D-1II

o o | @ @ of:fAfewent T &1 /I TR AW S

g7

A, GIHOTH

B. oiqgel wferet
C. TR

D. el |iHg
E. e

=1 faseal 9 @@ Sf@ SO &1 999 A
(1) %a@ A, DTS E (2) %a«@ Bwd D
(3) %a@ A, CTd E (4) %as Awa D
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Match List I with List 1L
List I

A. Taenia L

B. Paramoecium 1I.

C. Periplaneta II. Flame cells

D. Pheretima IV. Urecose gland

Choose the correct answer from the options give

below:

(1) A-IL, B-I, C-1V, D-III

(2) A-L B-I, C-II, D-IV

(3) A-L B-lI, C-1V, D-1II

(4) A-III, B-1I, C-1V, D-I

Once the undigested and unabsorbed substances
enter the caecum, their backflow is prevented by-
(1) Pyloric sphincter

(2) Sphincter of Oddi

(3) Ileo - caecal valve

(4) Gastro - oesophageal sphincter

Match List I with List IT with respect to human
eye.

List I
A. Fovea L.

List 11
Nephridia
Contractile vacuole

List II

Visible coloured portion
of eye that regulates
diameter of pupil.
External layer of eye
formed of dense
connective tissue.

Point of greatest visual
acuity or resolution.
Point where optic nerve
leaves the eyeball and
photoreceptor cells

are absent.

Choose the correct answer from the options
given below:

(1) A-I, B-I, C-III, D-IV

(2) A-IIL B-I, C-1V, D-II

(3) A-1V, B-III, C-1I, D-I

(4) A-L B-1V, C-II, D-1I

Match List I with List II.
List I List IT
(Interacting species) (Name of Interaction)
A. A Leopard and a I.  Competition
Lion in a forest/grassland
B. A Cuckoo laying II. Brood
egg in a Crow’s nest parasitism
C. Fungi and root of a higher III. Mutualism
plant in Mycorrtizae
D. A cattle egret and
a Cattle in a field
Choose the correct answer from the options
given below:
(1) A-I, B-1II, C-1I, D-IV
(2) A-L B-I, C-II, D-IV
3) A-I, B-II, C-1V, D-11I
(4) A-I, B-1V, C-1, D-II
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@Iaﬁ@ll%wugﬁﬁﬁwm

T 1 T 11
A.  2fm@r I gFph

B. thriform 1. dgamsia g
C. 9Rwier II.  erer ehifdrenrd
D. & IV. g bt

e fasedl @ /81 SO &1 99T B

(1) A-II, B-I, C-1V, D-III

(2) A-lL, B-II, C-II, D-IV

(3) A-L B-II, C-1V, D-III

4) A—III, B-II, C-1V, D-I

e utad Ud STasnid gt diew ¥ g9 eid

¥ a9 S@ giqae B UehT o1 &

(1) rEdiie sEieHr

(2) S srETEAT

(3) i — ddpa ared

(4) <o — e SFERIEHT

yﬁa%a’éaﬁ@lﬁa@ll%wugﬁﬁa
|

T 1
A. wifqan L

w11

I &1 3@e 9y e
I S A 6 A B
it &t
REEAE U EG AT SR
GO Sdh B 9l
Bl B
Sfaehad 393 ieuTar a1
fadeT &1 fag)

fag <=l 9 & — dfa
T Bl Bigdl &
3T TET YBT9T FAST
IR Bl ¥
T fiu U faeeal ¥ 9 @ SO B 99T HA|
(1) A-II, B-1, C-II, D-1V

(2) A-II, B-I, C-1V, D-II

(3) A-1V, B-III, C-II, D-I

(4) A-L, B-1V, C-III, D-II

@Iaﬁ@ll%wu@mwm

w1 Il
(fa eraratra)

Tk aAE b Aem H L
I iR 9%

Th FaF Th Dl
dfed 7 oS & ¥

IV.

A.

@

D v
, D-1II
C I, D-1I
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Which of the following statements are correct

regarding female reproductive cycle?

A. In non-primate mammals cyclical changes
during reproduction are called oestrus cycle.

B. First menstrual cycle begins at puberty and
is called menopause.

C. Lack of menstruation may be indicative of
pregnancy.

D. Cyclic menstruation extends between
menarche and menopause.

Choose the most appropriate answer from the

options given below:

(1) A, C and D only

(2) A and D only

(3) A and B only

(4) A, B and C only

Given below are two statements:

Statement I: Low temperature preserves the

enzyme in a temporarily inactive state whereas

high temperature destroys enzymatic activity

because proteins are denatured by heat.

Statement II: When the inhibitor closely

resembles the substrate in its molecular structure

and inhibits the activity of the enzyme, it is

known as competitive inhibitor.

In the light of the above statements, choose the

correct answer from the options given below:

(1) Statement I is false but Statement II is
true.

(2) Both Statement I and Statement II are
true.

(3) Both Statement I and Statement II are
false.

(4) Statement I is true but Statement II is
false.

Radial symmetry is NOT found in adults of
phylum

) Echmodermata (2) Ctenophora

(3) Hemichordata (4) Coelenterata

Match List I with List II.
List I

A. Vasectomy L.

B. Coitus 1.
interruptus

C. Cervical caps IIl. Surgical method

D. Saheli IV. Natural method

Choose the correct answer from the options

given below:

(1) A-1V, B-II, C-1, D-II

(2) A-I, B-I, C-1V, D-1I

(3) A-I, B-1V, C-1I, D-I

(4) A-I, B-1II, C-1I, D-IV

List IT
Oral method
Barrier method
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= o ¥ e o T b favg W e ° U 9@l
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A, AR-ITEHE TWHYR AIGTe § 999 & G i
GiadHl @l 362d gk bed |

B. U¥ %geE@ 9% AEMH UX E BT &
TG wed 2

C. *JEE & STURATT TIHaT & g |

D. 9% %JAE SR § W aa il 5|

g fqu U fasedi § 9 qaq St 9% &1 99T B |

(1) ¥a@ A, Cwd D

(2) %@ Awd D

(3) %aw ATd B

(4) ¥a@ A, Bwa C

RERAIC R RO ik S

FoA 1: 1 quees doigw @i orars w9 9 ey
SRl ¥ g T@dl ¢ | el Sed qrushd Usigd
! fopansfierar &l & &% <ar ¥ 1| i S ¥ U
faga &1 9 ¥

F4 I1: 9 TeH% 379 aTfvaes deam o fopaneam
T BB FHFAT 7@ & S Tz &l fpansieadn &
eHd BT & O 39 Uiqweies a9 ded g1
Iuda HUAl b Yolel ¥ A few o fadedt & W@
IAT BN T9T BN

(1) == 1 o9 ¢ dfehT &= 11 9 81

(2) = w1 wd I |97 2

(3) i w1 wd I 3 2

4) FF 197 ¢ et w0 11 @ )

forq |9 & agwhl ¥ ol wHiHia TR Ry S ?

(1) umERH (2) I
3) @R (4) e
T [ & g 1 & @y gafad &1
T 1 T 11
A. gFaE®SHE | @il S A faty
B. 9@ WA . Ay fafa
C. Tty Mar ot 111 sreafspan fafy
D. w@&al IV. uifae fata

T fau U e § @€ SO @ 99T B
(1) A-1V, B-II, C-I, D-III
(2) A-lI, B-1, C-1V, D-II
(3) A-III, B-1V, C-II, D-I
4) A-I, B-III, C-1, D-1V
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Match List I with List II.

List I List II
(Cells) (Secretion)
A. Peptic cells I.  Mucus
B. Goblet cells II. Bile juice
C. Oxyntic cells III. Proenzyme pepsinogen
D. Hepatic cells IV. HCI and intrinsic factor

for absorption of
vitamin B,

Choose the correct answer from the options

given below:

(1) A-I, B-1V, C-1, D-III

(2) A-1V, B-1II, C-1I, D-I

(3) A-I, B-I, C-III, D-IV

(4) A-lI, B-I, C-1V, D-1I

In which blood corpuscles, the HIV undergoes
replication and produces progeny viruses?

(1) Eosinophils (2) Ty cells

(3) B-lymphocytes (4) Basophils

Vital capacity of lung is

(1) IRV + ERV + TV

(2) IRV + ERV

(3) IRV + ERV + TV + RV
(4) IRV + ERV + TV — RV

Given below are two statements:

Statement I: A protein is imagined as a line,
the left end represented by first amino acid
(C-terminal) and the right end represented by
last amino acid (N-terminal)

Statement II: Adult human haemoglobin,
consists of 4 subunits (two subunits of ¢, type
and two subunits of 3 type.)

In the light of the above statements, choose the
correct answer from the options given below:
(1) Statement I is false but Statement I is true.
(2) Both statement I and Statement II are true.
(3) Both statement I and Statement II are false.
(4) Statement I is true but Statement II is false.

Given below are two statements: one is labelled

as Assertion A and the other is labelled as

Reason R.

Assertion A: Endometrium is necessary for

implantation of blastocyst.

Reason R: In the absence of fertilization, the

corpus luteum degenerates that causes

disintegration of endometrium.

In the light of the above statements, choose the

correct answer from the options given below:

(1) A is false but R is true.

(2) Both A and R are true and R is the correct
explanation of A.

(3) Both A and R are true but R is NOT the

correct explanation of A.

(4) A is true but R is false.
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T I & g I % |y gafad s
Tl T 10
(Frfewd) ()
A. Uficw @ifyed 1. gere
B. @maw st L = S|
C. onfrafes® 1. 9 Tegd
BB EIESEISE]
D. feufes IV. wadiua ud
HifeRTd fqafm By, &
CERIEL RN
I BH

g ™ faeel § 9 9@ SO @ 999 &l
(1) A-Il, B-1V, C-1, D-III
(2) A-1V, B-III, C-II, D-I
(3) A-I, B-1, C-II, D-1V
(4) A-1II, B-1, C-IV, D-II
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3 wafa fawmy ¥er wear 37
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() F[ 1 3@ & afed w9 11 99 31

(2) @t w1 wd I 9 |

(3) a Fa I ud 11 or| &1
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HHFI A: HIRBYE! % AT o foQ THIR id-wX
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(1) A 3@ & et R 9 2|

(2) Awd RIAE 9 § wd R, A &I G&l AT B |

3) %A@Rﬁw%QﬁR,Aﬁﬂé’rWﬂﬁ
|

(4) A 93 ¢ @feT R o@d 2|
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[ Contd...



174

175

176

177

G6_Hindi+English |

Select the correct group/set of Australian
Marsupials exhibiting adaptive radiation.

(1) Lemur, Anteater, Wolf

(2) Tasmanian wolf, Bobcat, Marsupial mole
(3) Numbat, Spotted cuscus, Flying phalanger
(4) Mole, Flying squirrel, Tasmanian tiger cat

Match List I with List II.
List I List 1I
A. Heroin I. Effect on
cardiovascular system
II. Slow down body function
III. Painkiller
IV. Interfere with transport of
dopamine
Choose the correct answer from the options
given below:
(1) A-III, B-IV, C-1, D-II
(2) A-IIL, B-1I, C-1V, D-II
(3) A-L B-IL, C-III, D-IV
(4) A-1V, B-III, C-II, D-I

Match List I with List II.

List I List 1T
A. Ringworm 1. Haemophilus influenzae
B. Filariasis II. Trichophyton
C. Malaria HI. Wuchereria bancrofti
D. Pneumonia IV. Plasmodium vivax
Choose the correct answer from the options
given below:
(1) A-II, B-1I, C-1V, D-I
(2) A-I, B-1II, C-1V, D-I
(3) A-I, B-III, C-1I, D-IV
(4) A-II B-II, C-I, D-IV

B. Marijuana
C. Cocaine
D. Morphine

Given below are two statements:

Statement I: Electrostatic precipitator is most

widely used in thermal power plant.

Statement II: Electrostatic precipitator in

thermal power plant removes ionising radiations

In the light of the above statements, choose the

most appropriate answer from the options given

below:

(1) Statement I incorrect but Statement II is
correct.

(2) Both Statement I and Statement II are
correct.

(3) Both Statement I and Statement II are

incorrect.

(4) Statement I is correct but Statement II is

incorrect.
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(2) et wfean, dade, fgam 9|
(3) T, YSER HEhH, IsT-HeliT

(4) 7|, Sev P, qEnaE TR B

T I & T I & ary gafad s
T T 11
A, feOEA [ %< aifEal dF 9 g4
B. Afgem II. R & wabrat &
T BT
C. I . s&fans
D. A(®%H IV. SUHH % uftass & aren

1 fiu U faeeal ¥ @ @ SO B g9 HAU

(1) A-IIL B-1V, C-1, D-II
(2) A-IL B-I, C-1V, D-III
(3) A-l, B-II, C-III, D-IV
(4) A-IV, B-III, C-1I, D-I
T 1 & T 1 & a1y gafad &
T 1 T 11
A. fored . EFifeag swggsr
B. wEaiuiE II. gE@wEeT
C. Wt . geRRar dwiwers
D. fmfm V. w=ifeas argds

I fau U faeen § 9§ 9 IO @ 99T B
(1) A-IIL B-II, C-1V, D-I
(2) A-IL B-IIIL, C-1V, D-I
(3) A-IIL B-III, C-I, D-IV
(4) A-IIL B-II, C-I, D-IV

e & Hud fau MU R

Fo I: dgq sraafs g farga €49 H e ' 9 9
SR § AT ST $

o 11 19 foga &9 ¥ g STaais Saeieie
fafewtor &t gerar 31

Iude HeAl & gBIe ¥ T faw T fawmedt § @ wd
I B TIT B

() #1359 § afeed wa= 11 9 F)

(2) =t w1 wd I 9 2|

(3) = Fa= 1 wd 11 sr|c ¥

4) ®W 197 ¢ AfpT w11 3@ 2
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Given below are statements: one is labelled as
Assertion A and the other is labelled as
Reason R.

Assertion A: Nephrons are of two types: Cortical
& Juxta medullary, based on their relative
position in cortex and medulla.

Reason R: Juxta medullary nephrons have short
loop of Henle whereas, cortical nephrons have
longer loop of Henle.

In the light of the above statements, choose the
correct answer from the options given below:
(1) A is false but R is true.

(2) Both A and R are true and R is the correct
explanation of A.
(3) Both A and R are true but R is NOT the

correct explanation of A.
(4) A is true but R is false.

Which of the following functions is carried out
by cytoskeleton in a cell?

(1) Transportation

(2) Nuclear division

(3) Protein synthesis

(4) Motility

Broad palm with single palm crease is visible in
a person suffering from-

(1) Thalassemia

(2) Down’s syndrome

(3) Turner’s syndrome

(4) Klinefelter’s syndrome

Given below are two statements:

Statement I: In prokaryotes, the positively
charged DNA is held with some negatively
charged proteins in a region called nucleoid.
Statement II: In eukaryotes, the negatively
charged DNA is wrapped around the positively
charged histone octamer to form nucleosome.
In the light of the above statements, choose the
correct answer from the options given below:
(1) Statement I incorrect but Statement II is
true.

Both Statement I and Statement II are
true.

Both Statement I and Statement II are
false.

Statement I is correct but Statement II is
false.

)
3)
)
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e < Fu I ™ ¥ e i A R @0 R

R %I

AR A: JHBIY] SD] aepe T AeAlyT § @e

Rerfar & SMe WX S YBR & A & | AeHT BT

S |ifed weAier gan |

FRO R: A1i=eq ALAisT gaproeni § e W9l Bl

BT & Tl aeperd Jabra H STEHd IST ST

79T BT 2 |

Suda HUA & Yol W, T fiu U fgeedt § |

Ifad ST & T BAU

(1) A s@a t afes R 9 21

(2) Awd RIAE 9 § wd R, A &I Gl 1€ 7 |

(3) ATUd RIAI & T Td R, A %1 T2 e =&
%l

(4) A9 ¥ WfeT R o€ 2|

ffaiad ® @ |1 B Iyl § argadet g
fepan T B 7

(1) dftess

(2) wsH™ a9

(3) WM €ywwo

(4) T

fpae difsa wferd & T TTew wiet & @1 AT w9
3@ W % 7

(1) et

(2) sre Rigm

(3) =X figm

(4) FETHERT M

& wyw fow o ¥

F I: Mpiiesdl ¥ e omafy ey 5
FOMHS AT WM & T1Y S4BT Th & o
FHsE Bed &, § T@dl 5

Fa 11: HTART § FOMASD ARG ST GHTED
AT fee eteas & Al 3R fesy gfermarar
ERIGIY

Suged HoAl b webteT ®, 7 fou Ty faeedt 7 @ W@
TAT B TIT B

() #1379 § afeed wa= 11 9 F)

(2) 3 F= I wd I 9 ¥

(3) =i F4w I ud 11 1| B

4) ®F 197 ¢ dfed w49 11 3/ 2
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Match List I with List II.

List I List 1T
A. P - wave I.  Beginning of systole
B. Q - wave 1. Repolarisation of

ventricles
Depolarisation of atria
Depolarisation of
ventricles

Choose the correct answer from the options
given below:

(1) A-L B-lI, C-II, D-IV

(2) A-lI, B-I, C-1V, D-1I

3) A-1V, B-III, C-II, D-1

(4) A-I, B-1V, C-I, D-II

C. QRS complex III.
D. T - wave IV.

Which of the following statements is correct?
(1) Algal Bloom decreases fish mortality

(2) Eutrophication refers to increase in
domestic sewage and waste water in lakes.
Biomagnification refers to increase in
concentration of the toxicant at successive
trophic levels.

Presence of large amount of nutrients in
water restricts ‘Algal Bloom’

3)

)

Given below are two statements:

Statement I: RNA mutates at a faster rate.
Statement I1: Viruses having RNA genome and
shorter life span mutate and evolve faster.

In the light of the above statements, choose the
correct answer from the options given below:
(1) Statement I false but Statement II is true.
(2) Both Statement I and Statement II are
true.

Both Statement I and Statement II are
false.

Statement I is true but Statement II is
false.

3)
C)
Which one of the following symbols represents

mating between relatives in human pedigree
analysis?

O HeeY o 1—O

®» [0 © I
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T & g 1 & a@rg gafad &

Lcil | T 11
A, P T I 9%aT &1 dRH
B. Q- a@ . frear & srga
C. QRS gftag 1. sifeiar @1 fagamm
D. T - an V. et &1 faga

I fiu 1o faeedt & @ @8 SO & 9T B
(1) A-lL, B-II, C-II, D-IV
(2) A-1II, B-I, C-1V, D-II
(3) A-1V, B-III, C-II, D-I
(4) A-IL B-1V, C-1, D-III

= & ¥ BF A wuA wi )

(1) dord yegpes wufadl & A ¥ Udhdl 2|

(2) =Y AMfed 7 T 3wl § Atfed 7§ gawo
¢ W B

(3) S amaET H HaH it T T U STTeRy
@l |igar ¥ ghg &1 B B

(4) T F B! AET H GBI BT AT A TpeA
B e 7

9 & wyw fou o ¥

FU 1: STAY SU&THd de 3¢ 9 Ieranid siarl
gl

o 11 STRUAT S Td Bl Sia bid ara e
droar @ Safafda ud fasfa s g

SUgE BIAl & YhIe H, A fey MU fawedt # &
T I BN TIT B

(1) w1 o8 & wfeht w0 11 9 31

(2) 3 F= I wd I 9 ¥

(3) i w1 wd I 3 B

(4) w199 ¢ dfes w9 11 o/ 2

e A demett fasawor # @ @1 wdie Rsdard
% 9/ #gT @I el i s 7

OHee® o 1—O

O[O ® I
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Section-B (Q. No. 186 to 200)

Zoology :

186

187

188

G6_

The parts of human brain that helps in regulation
of sexual behaviour, expression of excitement,
pleasure, rage, fear etc. are :

(1) Corpus callosum and thalamus

(2) Limbic system & hypothalamus

(3) Corpora quadrigemina & hippocampus
(4) Brain stem & epithalamus

Match List I with List 1L
List I List II
A. Logistic I.  Unlimited resource
growth availability condition
B. Exponential II. Limited resource
growth availability condition
C. Expanding III. The percent individuals
age pyramid of pre-reproductive
age is largest followed
by reproductive and
post reproductive
age groups
D. Stable age IV. The percent individuals
pyramid of pre-reproductives

and reproductive age
group are same
Choose the correct answer from the options
given below:
(1) A-IL, B-1V, C-1II, D-I
(2) A-1, B-I, C-III, D-IV
(3) A-I, B-II, C-1I, D-IV
(4) A-I, B-1V, C-I, D-II

Which of the following statements are correct?

A. An excessive loss of body fluid from the
body switches off osmoreceptors.

B. ADH facilitates water reabsorption to
prevent diuresis.

C. ANF causes vasodilation.

D. ADH causes increase in blood pressure.

E. ADH is responsible for decrease in GFR.

Choose the correct answer from the options
given below:

(1) C, D and E only

(2) A and B only

(3) B, C and D only

(4) A, B and E only
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MG ARG B 9 S WRe sk, SaeHl B
arfyreaterd, galt, T[ea, ST gTe &1 FEasw HYa 2|
(1) | Faem Td Jand

(2) fafs® o= iR sgWdeHa

(3) BT FERHEAT R fedidhum

(4) =faw @Y &R sdeg

T I & T & are gafad s
T 1 T 11
A, @R-d% glg I o g
%I SYTLAT Dl
aFereT
B. gt ghg 1. Hifhd denes @
SUAEHAT DI ST
C. dedl oy . S99gd &g &
s Tl Bl giaeTaar
Sffaead Bl §
ISSERSICRE RG]
T SRR oy o
3 1
D. Rex amg IV. S9Ye gd e
fithrs omg ot & Aol
%1 gferadn g9
T 2

A fqu U faeel ¥ @ @ SO B g9 HA
(1) A-II, B-1V, C-III, D-1
(2) A-Il, B-I, C-III, D-IV
(3) A-I, B-III, C-1, D-1V
4) A-I, B-1V, C-1, D-IIT

frafafed & & &9 § HUT T E 7

A, R ¥ erafyud ST &9 &1 B g
feat B §% BT @ B

B. TSI gA@dl dl U % [T STl o JAagnyoy
@ G S 2|

C. TUUAUE aArfEen feramaor oyar &1

D. vwdiug @ 39 § S & ol

E. wug Suear § i & fou saer ¥

W feu U faeedl ® @ Stua SR @1 99 B
(1) %@ C,Dwd E

(2) %aw ATd B

(3) %a« B, Cwd D

(4) ¥%a@ A, Bwd E
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Select the correct statements with reference to

chordates.

A. Presence of a mid-dorsal, solid and double
nerve cord.

B. Presence of closed circulatory system.

C. Presence of paired pharyngeal gillslits.

D. Presence of dorsal heart

E. Triploblastic pseudocoelomate animals.

Choose the correct answer from the options
given below:

(1) C, D and E only

(2) A, C and D only

(3) B and C only

(4) B, D and E only

Which of the following is characteristic feature
of cockroach regarding sexual dimorphism ?
(1) Presence of anal cerci

(2) Dark brown body colour and anal cerci
(3) Presence of anal styles

(4) Presence of sclerites

Given below are two statements:

Statement I: During G, phase of cell cycle, the

cell is metabolically inactive.

Statement II: The centrosome undergoes

duplication during S phase of interphase.

In the light of the above statements, choose the

most appropriate answer from the options given

below:

(1) Statement I is incorrect but Statement 11
is correct.

(2) Both Statement I and Statement II are
correct.

(3) Both Statement I and Statement II are

incorrect.

(4) Statement I is correct but Statement II is

incorrect.

Which of the following are NOT under the
control of thyroid hormone?

A. Maintenance of water and electrolyte
balance

Regulation of basal metabolic rate
Normal rhythm of sleep-wake cycle
Development of immune system

Support the process of R.B.Cs formation
Choose the correct answer from the options
given below:

(1) D and E only
(3) B and C only

MO0

(2) A and D only
(4) C and D only
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Breel & o H G HYUAl B AT B

A. -y, 39 Td Sredl il o9 @l IuRdld
B. &% UiEeR oF & Surafa

C. & # ghag oM Mgl &1 suRafd

D. U &g %l SURANT

E. o, g2 Ter i

T fau U e § o Sk S @1 99T BAU
(1) %@ C,Dwd E

(2) ¥%a@ A, Cwa D

(3) %aw@ B g C

(4) ¥a@ B,Dwd E

= & @ @9 9 faeaee ot dftre fawuar & fafire
qqqTE ?

(1) Téa @8 # IuRkafy

(2) TEU U WX & TN T R T

(3) T @ @l SuRafa

(4) ®e® B IURAMT

T < *ue faw MU ¥

FA L: BT =5k Bl Gy 37T | Hliehl ST
wq ¥ i e 7

w11 S2iEm sfaueEeen & S wreren § f&r s
%

U HUA! b YehIeT H, Are o Ty faeedt 7 @ W@
T BN T B

(1) = 1 o9 ¢ Afh &= 11 9 3

(2) = wH I wd I & F

(3) i w= I wd I 3 2

4) 19T 2 wfeT w11 39 )

1 % @ ST arEiiEs WA b RS W T § 7

A T Td JEA TELT T B SAC TG
B. oyl SUMEdy gX & )

C. 9N-SFH & g% & M @d|

D. wfaRen aF &1 faeme|

E. omxdid. fmio & afear & weafed &
I fou U Reed § & w8 SO & 99T

(1) dad Dwd E  (2) %ad ATd D
(3) @ BTI C (4) Haw Cwd D
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Which one of the following is the sequence on

corresponding coding strand, if the sequence on

mRNA formed is as follows

5" AUCGAUCGAUCGAUCGAUCG AUCG

AUCG 3°?

(1) 3° ATCGATCGATCGATCGATCG
ATCGATCG 5’

(2) 5 UAGCUAGCUAGCUAGCUA
GCUAGC UAGC 3’

(3) 3° UAGCUAGCUAGCUAGCUA
GCUAGCUAGC 5’

(4) 5" ATCGATCGATCGATCGATCG
ATCGATCG 3’

The unique mammalian characteristics are:

(1) pinna, monocondylic skull and mammary
glands

(2) hairs, tympanic membrane and mammary
glands

(3) hairs, pinna and mammary glands

(4) hairs, pinna and indirect development

Which one of the following is NOT an advantage

of inbreeding?

(1) It decreases the productivity of inbred
population, after continuous inbreeding.

(2) It decreases homozygosity.

(3) It exposes harmful recessive genes that are
eliminated by selection.

(4) Elimination of less desirable genes and
accumulation of superior genes takes place
due to it.

Which of the following statements are correct ?
Basophils are most abundant cells of the
total WBCs

Basophils secrete histamine, serotonin and
heparin

Basophils are involved in inflammatory
response

Basophils have kidney shaped nucleus
Basophils are agranulocytes

Choose the correct answer from the options
given below:

(1) Aand Bonly (2) D and E only

(3) Cand E only (4) B and C only

Select the correct statements.

Tetrad formation is seen during Leptotene.
During Anaphase, the centromeres split and
chromatids separate.

Terminalization takes place during
Pachytene.

Nucleolus, Golgi complex and ER are
reformed during Telophase.

Crossing over takes place between sister
chromatids of homologous chromosome.
Choose the correct answer from the options
given below:

(1) B and E only
(3) B and D only

mo O 0w >

m o a wp

(2) A and C only
(4) A, Cand E only
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afs T g mRNA &1 %9 99 fear w2

5> AUCGAUCGAUCGAUCGAUCG AUCG

AUCG 3°, a8 T # $IfS$T =9 &1 %9 &

BT ¢

(1) 3> ATCGATCGATCGATCGATCG
ATCGATCG 5’

(2) 5> UAGCUAGCUAGCUAGCUA
GCUAGC UAGC 3°

(3) 3° UAGCUAGCUAGCUAGCUA
GCUAGCUAGC 5’

4) 5 ATCGATCGATCGATCGATCG
ATCGATCG 3’

B O fafireand weas weeahal @ § 7
(1) wviucad, WABISATE HUE Td e ARt
(2) W, & weE o v @ dhEt

3) |, HUYewd Ug w@H Ui

(4) ¥, HuiYewd UG e qiays

e o B iq ST & @y T B 7

(1) AR Siq:yeT & 918 I8 Sid:Usld qHie ol
IATEHAT BF HIAT

(2) ¥% TAGTAT B B BT 5

(3) T BIMYE SIYHTE ST Bl SIHIRAT BT & oI
Tg9 g0 reta feu wimd ¥

(4) 9% BT HH AR Al BT FTpEE T
g5 foper & Wl BT HOE BT 1

= ¥ ¥ B9 A B w7

A. JEIRhA HA SsAEl Bl qed 3AfUE HIfHT
g

B. Yuifea fewitm, R e Rifea & ama

H E

IO STrereTr wlafearett & aftafad sy ¥

IR § gah % OB B Hxdb il o

YOG STHUTBITITRIT Bl & |

3 R o el § § A S B A FA

(1) dad ATd B (2) %aw D ud E

(3) ¥T CTE (4) ¥a@ Bud C

e HYA B TIT B
A. ag=h FET agdee 9 fEi < B
B. wyareen § Torgsfey fedfed e ¥ ook

™o O

C. W@y ¥ SUid9as g ¥l

D. dfset, Tieslierd Ud oMY sicmewen & g a9
SRy

E. IR i et TUgal ol 989 STEorgai
% /= B B

A fou g foedt @ G99 Sfd SR &1 99T B |

(1) ¥@ BWE (2) %@ Atwd C

3) @@ Buwd D (4) waw A, CTg E
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In cockroach, excretion is brought about by-

A. Phallic gland B. Urecose gland
C. Nephrocytes D. Fat body
E. Collaterial glands

Choose the correct answer from the options
given below:

(1) B and D only

(2) A and E only

(3) A, B and E only

(4) B, Cand D only

Match List I with List II.

List I List 11
A. Mast cells [.  Ciliated epithelium
B. Inner surface 1I. Areolar

of bronchiole connective tissue
C. Blood III. Cuboidal epithelium
D. Tubular parts IV. specialised

of nephron connective tissue
Choose the correct answer from the options give
below:

(1) A-II, B-1V, C-II, D-1

(2) A-L B-II, C-1V, D-lII

(3) A-Il, B-III, C-I, D-IV

(4) A-Il, B-I, C-1V, D-III

Which of the following statements are correct
regarding skeletal muscle?

A. Muscle bundles are held together by
collagenous connective tissue layer called
fascicle.

B. Sarcoplasmic reticulum of muscle fibre is

a store house of calcium ions.

C. Striated appearance of skeletal muscle fibre
is due to distribution pattern of actin and
myosin proteins.

D. M line is considered as functional unit of

contraction called sarcomere.

Choose the most appropriate answer from the
options given below:

(1) C and D only
(2) A, B and C only
(3) B and C only
4) A, Cand D only
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faeaee & SosiA % B BT 5

A, WHfas 1ty B. @@ ufy

C. -wEEeE D. @& fis

E. gowe it

i feu o faeedl & 9 Sf@ S & 99 B
(1) %a@ Bwd D

(2) ¥%a@ ATd E

(3) waw A, Bud E
(4) %aa B, Cwd D

T 1 & T 1 % a1 gafad &
T T 11
A. e ®fdmd L geErl Sudkar
B. ya@iTaI @l 1. ofEeR st
Jfai® qads Iq%
C. T II. =R Iuchdl
D. gweet & IV. faitre Sl oa@
AfTBIBIT AT

1 feu U faeed § @ 98 IO @ 99T B
(1) A-II, B-1V, C-II, D-I
(2) A-L B-II, C-1V, D-1II
(3) A-II, B-III, C-I, D-IV
(4) A-II, B-I, C-1V, D-III

e Ut & fawg & & 9 HUT W § 7

A, el ST dIerST HAST Sad B U W IHg
T ¥ e duee @Ed 2

B. Ul g & Arebranneh {ageH dhieadd Srat

H WS B B

C. %o Ush Bl giER femae wiees Td A=
WM & faawer wfoew & B gy B

D. UH @ & GFad B HRTEES 3HE AT STl
% 8 ameifer wed ¥

A feu T faeedl § € q9q SE ST @1 99 Bl

(1) ¥a@ Cwa D

(2) %aw A, Bwg C

(3) ¥a@ Bug C

(4) wad A, Cuwd D
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fefefEe [FEsT ear7 @ g -

Read carefully the following instructions :

6.

10.

11.

12.

13.
14.

15.

16.

17.

AT TR g W, qdemedt a1/ gie Sied ¥ 9d 3
U (g ufafeiy v shraiera ufatafa ) shey fHaeres
ohY TGV WU S | Tdemeft 379 e g giedert o 5
wehd B

T gftent ot Heha & G6 | =g giiiyem e el fon
T GAIahT ohT Hehd, ST TR oh Ho1 Afdferia ag a1y
T Hehd W faerar &1 oR =g fis & < wdamedt gud
e giedert 3R IR 3 o1 & fag fies 1 i
T Q|

Tdameft ghfyea i fe 39 ST o= =61 | 7 91w
I R 37 T2 7 e | qdeedt sTae TR
¥ gikaenl/ I 99 § Fuifa Tom & sifafea s
=1 ferdi |

IW 79 R fFE THR F ded 7 K KES +
N T ST T R |

TS M R Y gdamel, fiers 1 79 gae-ua
fe@md |

g arefters a1 flere 1 fovm erqmfa o fam =
Tdefreft STo T A B |

Frdd e &1 91 SR U feq faqn wd
Iufeerfd-—as/eh T g sEaR (T % @e1) fehg
fom =g ghaneff odan e =S B0 afe feet
gitgrrell ¥ gET R SufeIfd-useh u¥ e TE
R =1 =g AT STET foh SET ST U S wteran ¥
3T srgfara | st JIHeT JEn S
eI eh/ eaaerd URehetsh sl SUANT afeld & 1
TART-heT/BicT H =R0T o T udemeff, odem &
ot we fafradi g fafaa €1 egfaa @em &
Y ATEE! 1 e 39 TdaT o feEi v faftesi
STIRENT |

foret grema & et gicant ST STX U T g
HT ST A L

T giedeht / SR U= H fau Tu udet gRaent dohd i
qdemel wE alek ¥ sufeafa-udes § fod |

A "¢ 9 e @t erafy &t lien & fau us g
Ut fFe @1 wfaqRe @99 yee fean wmom, a9t
g gt (S femew & fow omdifies w0 @ e
), BHIES BT IUART HIAT & a1 T2 |

6.

=~

10.

11.

12.

13.
14.

15.

16.

17.

On completion of the test, the candidate must
hand over the Answer Sheet (ORIGINAL and
OFFICE Copy) to the Invigilator before leaving
the Room/Hall. The candidates are allowed to take
away this Test Booklet with them.

The CODE for this Booklet is G6 Make sure

that the CODE printed on the Original Copy
of the Answer Sheet is the same as that on
this Test Booklet. In case of discrepancy, the
candidate should immediately report the matter to
the Invigilator for replacement of both the Test
Booklet and the Answer Sheet.

The candidates should ensure that the Answer
Sheet is not folded. Do not make any stray marks
on the Answer Sheet. Do not write your Roll No.
anywhere else except in the specified space in the
Test Booklet/Answer Sheet.

Use of white fluid for correction is NOT permissible
on the Answer Sheet.

Each candidate must show on-demand his/her
Admit Card to the Invigilator.

No candidate, without special permission of the
centre Superintendent or Invigilator, would leave
his/her seat.

The candidates should not leave the Examination
Hall without handing over their Answer Sheet to
the Invigilator on duty and sign (with time) the
Attendance Sheet twice. Cases, where a
candidate has not signed the Attendance
Sheet second time, will be deemed not to
have handed over the Answer Sheet and
dealt with as an Unfair Means case.

Use of Electronic/Manual Calculator is prohibited.
The candidates are governed by all Rules and
Regulations of the examination with regard to their
conduct in the Examination Room/Hall. All cases
of unfair means will be dealt with as per the Rules
and Regulations of this examination.

No part of the Test Booklet and Answer
Sheet shall be detached under any
circumstances.

The candidates will write the Correct Test Booklet
Code as given in the Test Booklet/Answer Sheet
in the Attendance Sheet.

Compensatory time of one hour five minutes
will be provided for the examination of three
hours and 20 minutes duration, whether such
candidate (having a physical limitation to
write) uses the facility of Scribe or not.
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